—_
N
K;{::a

Kancioglu Otomotiv San. ve Tic. A.S.

UYARI

1- Bu iiriin katalogunda kullanilmis olan biitiin imalat¢i isimleri , ticari markalar , semboller yalnizca
referans amaciyla kullanilmugtir. Uriin fotograflarinin , bu imalatgilarin diriinii oldugu anlamina
gelmez.

2- Firmamuz tarafindan pazara sunulan iiriinler orjinal iiriin olmayip , orjinali ile ayni calisma ozel-
liklerine sahip muadil iiriinlerdir.

3- Sirketimiz , baski ve yazim hatalar gibi olusabilecek yanhshiklardan sorumlu tutulamaz.

WARNING

1 - All the manufacturer names , commercial brands seymbols are used only for reference. It doesn't mean
that of those pictures are product of those manufacturers.

2 - The products which are presented in the market have the same technical specifications and
functionality as of original products.

3 - Our company is not responsible for any print and spelling mistakes.



(@ N
8
«Kanca

Kancioglu Otomotiv San. ve Tic. A.S.

W o5

HAKKIMIZDA

KANCA/KANCIOGLU OTOM. A.S. 1960 yilinda Ilyas KANCIOGLU tarafindan Istanbul’da
kurulmustur.

Kurulusunun ana amaci kaucuk — metal birlesimi olan otomotiv ve vibrasyon iiriinleri imal etmektir.
300 m’ lik bir atélyede imalata baslayan firmamiz daha sonraki yillarda ticari araclarin (Kamyon , Tir ,
Otobiis vb.. ) saft aski takimlarinin iiretimine baslanistir. Bu iiretim 2000 li yillarda 4000 m*
biiyiikliigiindeki yeni fabrikamizda , saft aski takim cesitlerinde , diinyanin sayili firmalar: arasina
girmigtir.

Diyafram imalati ile baslayan fren parcalari imalatimiza Fren Koriigii iiretimini de katarak bu is
kolunda da kendimizi ve kalitemizi kanitlamis bulunuyoruz.

Bugiin 52 senelik bilgi ve tecriibemiz , 12.000 m? iiretim alanimiz , test laboratuvarimiz ve tecriibeli
teknik ekibimizle iiretimimize devam ediyoruz .

Otomotiv sektoriinde ileri gelen iilkelerin Aftermarket ve OEM firmalari ile uzun yillardir ¢calisiyor
olup bu isbirliklerini kalitemiz ile dogru orantili sekilde arttirmay hedefliyoruz.

Uriinlerimiz KANCA markal kutular ile TURK MALI ibaresi ile satilmaktadur.

ABOUT US

KANCA / KANCIOGLU OTOM. A.S. was founded by ILYAS KANCIOGLU in Istanbul in 1960. The
purpose of the foundation was to produce rubber-metal combinations for automotive and vibration prod-
ucts.

Our corporation has started manufacturing in 300m? workshop and produce centre bearings for
commercial vehicles. Since 20005, our company became one of the leading manufacturer in  centre
bearing market in its 4000 m*factory.

Today we continue manufacturing in 12.000 m? facility having test laboratory together with highly
experienced technical team .

We have started manufacturing diaphgrams for brake chambers then proved our quality by adding
brake chamber productions.

We intend to raise our cooperations with raising our quality , 52 years experience and working with
OEM and aftermarket corporations which take place in the leading countries of automotive market.

Our goods are sold with boxes labeled ‘KANCA’ and MADE IN TURKEY statement to all over the
World.



GARANTI KAPSAMI

KANCA, eger, uygun servis kosullarinda montaji yapiimis ve kullaniimig ise, tretilmis olan tim
fren koruklerini, Gzerinde yazmakta olan uretim tarihinden itibaren, malzeme ve isgilik hatalarina
kars! ti¢ yil garanti etmektedir.

GARANTININ LimiTi

1. Hatal kullanim, hatali montaj, uygunsuz servis hizmeti, kaza, yangin, yanlis bakim, kérige
midahale veya kéti kullanim durumlari bu garanti kapsaminin disindadir. Bunlarin disinda,

fren kdrugunin kapall olmasi gereken tapalari ¢ikariimig veya takildiginda tzerinde takili olmasi
gereken tapalar yerine takil bir sekilde muhafaza edilmemisse ve bakimlari iyi yapiimamigsa,
fren korudlu bu garanti kapsaminin digindadir.

2. Fren kérugu, garanti stresi iginde olsa bile, eger hava girigleri veya kelepge yoniniin
degistiriimesi neticesinde kelepgede hava kagagi olusmussa, fabrikadan kontrollt ¢ikmis oldugu
igin, garanti kapsamindan gikar.

HIiZMETIN SINIRLANDIRILMASI

1. KANCA ‘ NIN BU GARANTI KAPSAMINDAKI SORUMLULUGU, HATALI URUN VEYA
PARCANIN DEGISTIRILMESI VEYA TAMIRI ILE SINIRLIDIR(KANCA * NIN INiSIYATIFINDE).

2. KANCA, BU SINIRLI GARANTI KAPSAMINDA, ISCILIK, IS KAYBI, KAYIP ZAMAN, KAYIP
KAZANC, KULLANIM ZARARI VEYA BUNLARA BAGLI KAYIPLAR VE TANIMLI/TANIMSIZ
DIGER ZARARLARDAN SORUMLU DEGILDIR. BU GARANTI KAPSAMINDAKI SORUMLULUK
TAMIR VE DEGISTIRME SINIRLIDIR. TAMIR EDILMESINE VEYA DEGISTIRILMESINE KARAR
VERILEN FREN KORUGUNUN GARANTI SURESI, KALAN SURESI KADARDIR.

URUNOUN IADESI

Hatali oldugu ifade edilen fren kéragi, kargo bedeli firmamiz tarafindan 6denmek kaydiyla,
hatanin tespit edilmesinden itibaren 30 gin igerisinde yetkili saticiya ulastiriimalidir.

Fren kérugiine yapilan herhangi bir miidahale, fren kérigiiniin garanti kapsam disi olmasina
neden olur. Bunun sonucunda tiim masraflar géndericiden tahsil edilir.

YAPILAN GENEL HATALAR VE URUNUN GARANTISINi GECERSIZ KILAN DURUMLAR

- Frenleme zayif ; sebebi, fren ayar dusuktir(strok kisa gelmektedir), balatalar aginmistir, fren
hava odalarinda kagak vardir, fren hava basinci dusuktir, hava hatlarinda tikaniklik yada daralma
vardir.

- Frenleme butin tekerlerde esit degil ; sebebi, fren kéruklerindeki imdat yaylar esit kuvvette
degil yada zayiftir.

- Hava girig rekorlarinin yiiksek torkla sikilmasi ; neticesinde aluminyum gévdede gatlama
meydana gelir ve hava kagagina sebebiyet verir.

- Servis ve imdat hava girislerinin karistiriimasi ; neticesinde fren

kérugu islev gérmez ve hava kagirdigi izlenimini verir, korigun hatali

calismasina neden olur.

- Kurma civatasinin yiiksek torkla kumanda edilmesi ; neticesinde

imdat yayinin giivenli sekilde kurulmasi riske girebilir ve hayati durum

aciga cikabilir.

- Kompresér ve hava tankinin temizlenmemesi ; sonucunda pash ve kirli hava suyla birlikte
kériige dolabilir ve normalden daha hizli korozyona sebep olabilir. Kompresérden gelen hava

temiz olmalidir.

- Urtinuin dis yizeyinde darbe sonucu kalici hasar olugsmasi.

- Urtiniin sékiliip o-ring, kege ve pistonlarina uyumlu olmayan yag kullaniimasi.

- Arag igin uygun olmayan fren kértigtiniin segilmesi.

- Fren kérugunin nefeslik borusunun ¢ikartilarak calistiriimasi.

- Fren kérugunin araca baglanti civatalarinin iyi sikilmamasi ve baglanti plakasinin yamuk veya
bozuk olmasi.

- Hava girislerindeki dislerin uygunsuz sikma neticesinde bozulmasi ve siyrilmasi

- Fren kérugunin servis tarafinin baglanti agilari ayarlanirken diyaframin diizgiin yerlestirilememesi.
- Fren kérugu baglanti agilari degistirildikten sonra tork kontrollu sikistiriimamasi.

- KANCA marka fren koruklerinde KANCA tamir takimi ve diyaframlarin kullaniimamasi.



WARRANTY

KANCA A.S. warrants all the brake chambers, when properly installed under normal service
and use, are free from defects in materials and workmanship for a three years of time period
computed from manufacture stamped on the product.

LIMITATIONS OF WARRANTY

1. This warranty does not apply to parts and assemblies which have been subjected to misuse,
improper installation, abnormal service, accident, fire, improper repair, tampering or abuse.
Without limiting the foregoing, this warranty does not apply to a spring brake which has been
used while its end cap or breather cap has been removed or have not been kept in place and in
good repair when so equipped upon purchase.

2 . This warranty does not apply to parts and assemblies which have air leakage from the
clamps subjected to change of clamp and inlet positions by un-authorized personnel.

LIMITATION OF REMEDY

1. The responsibility of KANCA under this warranty is limited to the repair or replacement

(at KANCA's option) of the defective product.

2. In no event and under no circumstances shall KANCA be resposible under this limited
warranty for any other charge whatsoever, including but not limited to charges or claims for labor,
lost business, lost time, lost profits, loss of use or any kind of consequential damages, however
denominated or described. The remedy under this warranty is limited to repair or replacement.
The warranty period of the product confirmed to repair or replace under this warranty is limited
to the rest of warranted time period.

RETURN OF PRODUCT

The brake chamber said to be defective should be delivered to the wholesaler or the retaler in
30 days from the date the defected item is detected. Attempting the defected items in any way
lead them out of the warranty togetherwith charging all the expenses arised to the buyer.

MISTAKES MADE IN PRACTICE WHICH INVALIDATE THE WARRANTY

Braking force is weak ; caused by wrong brake adjustment(short stroke), worn brake pads, air
leakage, lower air pressure, blockage or shrink in air pipe lines.

Imbalanced braking on the wheels ; caused by that the springs of the chambers do not match

in terms of performance.

Cracks on the aluminium body releasing air leakage ; caused by fastening the port adaptors with
high torque.

- The brake chamber doesn't operate as if there were air leakage ; coused by confusing which port
belongs to service or to spring side.

If the release bolt is attempted to drive with high torque, the extreme force of the spring which is
suddenly released due to uncontrolled removal may cause serious bodily injury.

Rapid corrosion inside the chamber ; caused by the lack of maintenance of the air comressor and
air tanks releases rusty and oil mixed dirty air enter inside the chamber and the caliper ,
eventually corrodes fast.

- Deformations on the surface of the product caused by impact.

- Using incompetable grease for seals and pistons after dismantling of the product.

- Improper choice of the brake chambers for the vehicle.

- Running the brake chamber without breathing pipe if the chamber is not internal breathing type.
- Not enough tightening of the mounting bolts and deformed mounting bracket.

- Worn threads of air ports because of improper fastening.

- Improper placement of the diaphragm while adjusting the clamp and air port position.

- Not fastening the clamp by a wrech torque controlled while adjustment of the clamp position.

- Not using KANCA repair kits and diaphragms for KANCA brake chambers.




~
% «Kanca

Kancioglu Otomotiv San. ve Tic. A.S.
ICINDEKILER / CONTENTS

A — Servis Fren Koriikleri ( Service Brake Chambers )

--- Saplamadan baglama SFK .........................c....... 2-9
( With Mownting Studs S-Cam )

s ST ST s ssisssassissoniossodbgimenssesissansssmsnssnsssass 10-17
( Disc Service Brake Chambers )

--- Borudan baglama SFK .........................ccccoeuvrec... 18- 19
( Wedge Type )

B — Diyafram / Diyafram DD Fren Koriikleri ( DD Brake Chambers)

--- Saplamadan baglama DD ..................................... 20 - 24
( DD Spring Brake Actuator S- Cam )

( Disc Spring Brake Actuator DD )

C — Diyafram / Piston DP Fren Kovriikleri ( DP Brake Chamber )

-— Saplamadan baglama DP..................................... 30-47
( DP Spring Brake Actuator S- Cam )

( Disc Spring Brake Actuator DP )

--- Borudan baglama DP...........................cuuceccuec... 60 - 65
( Wedge Type DP )

OZEL KORUKLER / SPECIAL PRODUCTS 66

CROSS LIST 67 - 87



DIAPHRAGMS / DIYAFRAMLAR

Fig. 1 Fig. 2 Fig. 3 Fig. 4 Fig. 5
@ a
0 |
URUN KODU / e EKiL/| CAP/DIAMETER | DERINLIK/DEPTH
PRODUCT CODE URUN ISMI / PRODUCT NAME SIGURE @ a b
AA.10611 T.9 DIYAFRAM Fig.1 129 25
AA.10610 T.12 DIYAFRAM Fig.1 140 28
AA.10614 T.14 DIYAFRAM Fig.1 145 30
AA.10608 T.16 DIYAFRAM Fig.1 159 32
AA.10606 T.20 DIYAFRAM Fig.1 168 32
AA.10604 T.24 DIYAFRAM Fig.1 179 32
AA.10613 T.27 DIYAFRAM Fig.1 201 34
AA.10603 T.30 DIYAFRAM Fig.1 201 32
AA.10619 T.30 M DiYAFRAM Fig.1 201 36
AA.10601 T.36 DIYAFRAM Fig.1 224 42
AA.10617 T.9 LS DERIN DiYAFRAM Fig.2 129 32
AA.10616 T.12 LS DERIN DiYAFRAM Fig.2 140 34
AA.10612 T.14 LS DERIN DiYAFRAM Fig.2 145 36
AA.10609 T.16 LS DERIN DiYAFRAM Fig.2 159 44
AA.10607 T.20 LS DERIN DiYAFRAM Fig.2 168 44
AA.10605 T.24 LS DERIN DiYAFRAM Fig.2 179 44
AA.10615 T.27 LS DERIN DiYAFRAM Fig.2 201 44
AA.10602 T.30 LS DERIN DiYAFRAM Fig.2 201 44
AA.10620 T.36 LS DERIN DiYAFRAM Fig.2 224 44
AA.10623 T.24 MEMELI DIYAFRAM Fig.3 179 32
AA.10622 T.30 MEMELI DIYAFRAM Fig.3 201 32
AA.10621 T.30 LS DERIN MEMELI DiYAFRAM Fig.3 201 47
AA.10624 T.12/16 DIYAFRAM Fig.4 159 33
AA.10625 T.14/16 DIYAFRAM Fig.4 159 33
AA.10627 T.16 S TiPi DIYAFRAM Fig.5 159 27
AA.10626 T.20 S TiPi DIYAFRAM Fig.5 170 25
AA.10628 T.24 S TiPi DIYAFRAM Fig.5 179 25




YOKES / CATALLAR
L

d2 -
=
A e = '
¥ s m | 3 =
AL i
KANCA NO d1 d2 d3 L L1 L2 L3 L4
10140.0 M16X1.5| 14 | 41.50| 81 30 18 64 58
10140.1 M16X1.5| 13 | 41.50| 81 30 18 64 58
10140.2 M16X1.5| 16 | 41.50| 81 30 18 64 58
KANCA NO d1 d2 d3 L L1 L2 L3 L4
10141.0 M16X1.5( 13 32 66 27 14 53 | 37.50
10141.1 M16X1.5| 14 32 66 27 14 53 | 37.50
KANCA NO d1 d2 d3 L L1 L2 L3 L4
10143 M16X1.5| 14 39 135 | 27.50| 15.50( 56 120
KANCA NO d1 d2 d3 L L1 L2 L3 L4
10144.0 M16X1.5| 14 26 81 32 16.30| 64 32
101441 M16X1.5( 16 26 81 32 16.30| 64 32
10144.2 M16X1.5( 16 26 72 32 16.30| 52.50( 29.50
KANCA NO d1 d2 d3 L L1 L2 L3 L4
10147 M14X1.5| 14 32 45 26 14 | 31.50| 16.50
10147.1 M16X1.5| 14 32 45 26 14 | 31.50| 16.50
KANCA NO d1 d2 d3 L L1 L2 L3 L4
10149 M16X1.5| 14 32 61 26 14.40| 45.50( 29
10149.1 M16X1.5( 13 32 61 26 14.40| 45.50( 29
KANCA NO d1 d2 d3 L L1 L2 L3 L4
10145 - 14 - 39 26,6 | 14,6 | 255 | 19,5
KANCA NO d1 d2 d3 L L1 L2 L3 L4
10146 - 14 - 51 26,6 | 146 | 37,5 | 31,5




iS FREN KORUGU SERVK:E

ICE BRAKE CHAMBER

CLAMP ANGLE
KELEPGE ACISI

\{%” L2
AIR ANGLE
HAVA GIRIS ACISI

Type / Tip SFK

Operating Pressure |

Caligma Basinci Max 10 Bar /\ /\ /\

Permissible Medium Air JAWAVA
Caligma Ortamu Hava V v v

Operating Temperature Range -40°C
Caligma Sicaklign +80°C

Control Pressure

13 bar

Kontrol Basinci

Permissible Leakage

Y
Miisade Edilen Kagak 10 et/ min

6572.00
6161.25
5750.50 ] 7 BAR
5339.75 6,8 BAR
4929.00 -
4518.257 ga
4107.50 ]
3696.75
3286.00
2875.25
2464.50 ]
2053.75
1643.00-
1232.25
821.50 ]
410.75
0.00

Kuwvet (N.)

> © & @ B N @ W N @ -~ & = = RIS & R @ S

FIG. 1



IS FREN KORUGU
ICE BRAKE CHAMBER

10140.0

101491
STROKE 57
FIG. 1
KANCA KANCA | WABCO | KNORR OEM o . HAVAGIRIS [T LAS. | CGATAL
YENiKOD  [EIAIG)D) CODE F6. | Thread | Lengih AR PORT AITER| YOKE
\[3\Refo]n/B8 OLD CODE Vida | Uzunluk
L1 L2 L3 L4
BS0012 10001 | AA 10097 1 MI6X15 190 | M16X15 MIBX15 | — 101400
BS0012 10002  AA.10097.1 1 M16X1,5 186 M16X1,5 M16X1,5 = 10140.0
BS0012 10003 | AA.10097.8 4231039000 = BZ3261 81511016211 MAN 1 M16X1,5 186 M16X1,5 M16X1,5 Vv -
BZ3263 81511016203 MAN
81511016216 MAN
81511019203 MAN
082200300  NEOPLAN
82200300 NEOPLAN
1505025 DAF
BBU5929 DAF
1932620 SCANIA
5021170046 ~ RENAULT
5430053317  RENAULT
0544412010 BPW
09451581 KRONE
500945158 KRONE
945158 KRONE
200253 GOLDHOFER
BS0012 10004 | AA10097.13 | 423 1030090 1] MHeX15 33 | MieXis MieXis | - | -
BS0012 10005 = AA.10097.12 1 M16X1,5 27 M16X1,5 M16X1,5 — 10149.1



IS FREN KORUGU
ICE BRAKE CHAMBER

CLAMP ANGLE
KELEPGE AGISI

AIR ANGLE
HAVA GIRiS ACISI

SFK

Max 10 Bar

Type / Tip

Operating Pressure
Caligma Basinci

Permissible Medium Air
Caligma Ortamu Hava

Operating Temperature Range -40°C
Caligma Sicaklign +80°C

Control Pressure

13 bar

Kontrol Basinci

Permissible Leakage

Y
Miisade Edilen Kagak 10 cm'/ min

10737.00
10065.94 1
9394.88 ]
8723.81_
8052.75-1
7381.69
6710.63 7
6039.56_|
5368.50
4697.441
4026.38 7]
3356.31
2684.25
2013.19
1342.137]
671.06
0.00

EE§E8888888¢%

S - I

Strok (mm.)

.g.
3

=1
=

FIG. 1

. 5346.56 |

9505.00-
8910.94
8316.88
7722.81
7128.75 -
6534.69
5940.63

4752.50
4158.44
3564.38
2970.31
2376.25-
1782.19
1188.13 ]

594.06

0.00

8
g

' 8gssss8s¢s
X % 4

Strok (mm.)

FIG. 2




IS FREN KORUGU
ICE BRAKE CHAMBER

KANCA
YENi KOD

NEW CODE

BS0014 10006

BS0014 10007

10146
10149
STROKE 57 STROKE 75
FIG. 1 FIG. 2
KANCA | WwaBCO | KNORR OEM i HAVAGIRIS  |T.LAS. | GATAL
ESKiKOD |  CODE PG | Thread. | Longt ARPORT  [GAITER| YOKE
OLD CODE Vida | Uzunluk
L1 L2 L3 L4

AA.10074 423 114 0300 1 Q16 37 M16x1,5  M16x1,5 — 10146
AA.10074.2 423114 0110 N1011018628 MAN 2 M16X1,5 52 M16x1,5 M16x1,5 Vv 10149

011018628
112231830
11018628
1122318300

NEOPLAN
NEOPLAN
NEOPLAN
SOLARIS



iS FREN KORUGU SERVK:E

ICE BRAKE CHAMBER

CLAMP ANGLE
KELEPGE ACISI

AIR ANGLE
HAVA GIRiS ACISI

Type / Tip SFK

Operating Pressure
Caligma Basinci Max 10 Bar

Permissible Medium Air
Caligma Ortamu Hava

Operating Temperature Range -40°C
Caligma Sicaklign +80°C

Control Pressure

13 bar

Kontrol Basinci

Permissible Leakage

Y
Miisade Edilen Kagak 10 et/ min

10465.00~ 9809.00 4
9810.94 9195.94
9156.88 ] 8582.88 |
8502.81_ 7969.81 ]

7848.75 7356.75
719469 6743.697
6540.63 . 613063 ]
5886.56 | 5517.56

523250 6 BAR 490450 ]
4578.44 4291.44
3924.38 7] 3678.38
3270.31 4 3065.31
2616.25+ 2452.25
1962.191 1839.197
1308.13 ] 1226.13 ]
654.06 ] 613.06

0.00 — T 0.00
g EEE2gE8E88¢E

sWeddEdESEAEIIERETE
Strok (mm.) Strok (mm.)

Kuwvet (N.)
Kuwvet (N.)

FIG. 1 FIG. 2




ViS FREN KORUGU
VICE BRAKE CHAMBER

10140.0
STROKE 57 STROKE 75
FIG. 1 FIG. 2
KANCA KANCA | WABCO | KNORR OEM i ARG L [
" " AIR PORT GAITER| YOKE
YENiKOD  ETAOD) CODE F6. | Thread | Lengih
NEW CODE OLD CODE Vida | Uzunluk
L1 L2 L3 L4
BS0016 10008 | AA.10099 1 M16X1,5 64 M16X1,5  M16X1,5 </  10140.0
BS0016 10009 = AA.10099.0 1 M16X1,5 210 M16X1,5  M16X1,5 = 10140.0
BS0016 10010  AA.10099.1 1 | M16X1,5 340 M16X1,5  M16X1,5 = 10140.0
BS0016 10011 = AA.10099.2 1 M16X1,5 37 M16X1,5 — - -
BS0016 10012  AA.10093 2 M16X1,5 190 M16X15  M16X1,5 = 10140.0
BS0016 10013 AA.10093.5 = 4231049000 @ 295531 @ A0034201324 MB 745398 DAF 2 M16x1,5 186 M16X1,5  M16X1,5 = 10140.0
BZ3320 = 0004209924 MB 0834481 DAF
BZ3326 0014200224 MB  WA4231049000 VOLVO
BZ3337 = 0014200624 MB 1010153 SCANIA
Bz3338 0014200824 MB 1912301 SCANIA
BZ3339 ' 0014200924 MB 5021170047 RENAULT
BZ3340 0014206224 MB 0544413010 BPW
Bz3374 0014206324 MB 0203272700 BPW
BZ3365 0034201324 MB 79537 KOGEL
BZ3353 ' 0054207518 MB  ASX0014018 FREUHAUF
BZ3370 = 0064202718 MB  AFA9104001 FRUEHAUF
BZ3341 | 0074200018 MB 500945157 KRONE
0074200118 MB 50945157 KRONE
81511016266 MAN 945157 KRONE
81511019249 MAN 9451570 KRONE
81511016172 MAN 605110100 BENALU
81511016173 MAN (7016 MACK
81511016174 MAN 051007 SCHMITZ
81511016175 MAN CARGOBULL
81511016198 MAN
81511016221 MAN
81511016222 MAN
81511016223 MAN
81511016225 MAN
81511016249 MAN
81511016260 MAN
07010016  MAN
834481 DAF




iS FREN KORUGU SERVK:E

ICE BRAKE CHAMBER

CLAMP ANGLE
KELEPGE AGISI

AA'R ANGLE
HAVA GIRiS AGISI

Type /Tip SFK

Operating Pressure
Caligma Basinci Max 10 Bar

Permissible Medium Air
Caligma Ortamu Hava

Operating Temperature Range -40°C
Caligma Sicaklign +80°C

Control Pressure

13 bar

Kontrol Basinci

Permissible Leakage

Y
Miisade Edilen Kagak 10 cm'/ min

10798.00~
10123.13
9448.25 ]

Kuwvet (N.)

Strok (mm.)

FIG. 1




IS FREN KORUGU
ICE BRAKE CHAMBER

STROKE 57
FIG. 1

10140.0

101471

KANCA KNORR
ESKI KOD

OLD CODE

WABCO
CODE

KANCA
YENi KOD

NEW CODE

OEM

SAFT
PUSH ROD
FIG. | Thread Length
Vida Uzunluk

L1 L2

HAVA GIRIS
AIR PORT

L3 L4

T. LAS.
GAITER

CATAL
YOKE

BS0020 10014 | AA.10094
BZ3444
BZ3464
0482022201000

BS0020 10015 = AA.10094.8 4231051110

BS0020 10016 AA.10094.11 | 4231054090 = BZ3480

BZ3440
BZ3443
0482022207000

BS0020 10017 AA.10094.21 = 4231057030

0004207624
0054202018
0074208718
0074209718
0064209424
0074208924
A0074208718
81511016196
81511019196
MBU5172
1505026
5021170048

A0024200824
A0024200624
0024200824
0024200624
1505028

A0074208618 MB 1

1 M16X1,5 190

MB 1
MB

MB

MB

MB

MB

MB - EVOBUS
MAN

MAN

DAF

DAF
RENAULT

M16X1,5 20

MB EVOBUS 1 M16X1,5 20
MB
MB
MB

DAF

M16X1,5 20

080219100 NEOPLAN

11015178

NEOPLAN

M16X1,5 M16X1,5

M16X1,5 -

M16X1,5 -

- M16X1,5

Vv

Vv

10140.0

101471

10147.1

10147.1




iS FREN KORUGU SERVK:E

ICE BRAKE CHAMBER

CLAMP ANGLE
KELEPGE ACISI

\{%” L2
AIR ANGLE
HAVA GIRIS ACISI

Type / Tip SFK

Operating Pressure |

Caligma Basinci Max 10 Bar /\ /\ /\

Permissible Medium Air JAWAVA
Caligma Ortamu Hava V v v

Operating Temperature Range -40°C
Caligma Sicaklign +80°C

Control Pressure

13 bar

Kontrol Basinci

Permissible Leakage

Y
Miisade Edilen Kagak 10 et/ min

12139.00
11380.317
10621,63: 6.8 BAR
9862.94 ] :
9104.25- TBAR
8345567
7586.88 ]
6828.19
it 6.5 BAR
5310.81
4552.13]
3793.44
3034.75-
2276.06
1517.38 ]
758.69

Kuvvet (N.)

73.950
82,650 ]
87.000

78.300

wwwwwww

Strok (mm.)

FIG. 2



IS FREN KORUGU
ICE BRAKE CHAMBER

10140.0

KANCA
YENi KOD

NEW CODE

BS0020 10018

BS0020 10019

BS0020 10020

STROKE 75
FIG. 2

KANCA
ESKi KOD
OLD CODE

WABCO
CODE

KNORR

SAFT
PUSH ROD
FIG. | Thread Length
Vida Uzunluk

L1 L2

OEM

HAVA GIRIS
AIR PORT

L3 L4

T. LAS.
GAITER

CATAL
YOKE

AA.10095

AA.10095.7

AA.10095.8

423 1059000

BX3402
BX3417
BX3416
BX3419
BZ3460
BZ3434
BZ3433
BZ3421
295554
295532
295361

2 M16X1,5 200

2 M16X1,5 190

0024206518  MB
6984203721  MB
6994200724 MB
A6984203721 MB
A6994200724 MB
81511016076  MAN
81511016077 MAN
81511016078 MAN
81511016079 MAN
81511016199 MAN
81511019076  MAN

2 M16X1,5 186

1252021000
1252021000AT
1252423000
1252423000AT

07010020
0834482
BBU5931
834482

NEOPLAN
DAF

DAF

DAF

526031200000 VOLVO
WA4231059000 VOLVO

3345107R1
1738479
5021170049
0203273200
0203362000
0544414010
175202
79302
ASX0014019
945154
50945154

IVECO
SCANIA
RENAULT
BPW
BPW
BPW
KOGEL
KOGEL
FRUEHAUF
KRONE
KRONE

051009 SCHMITZ CARGOBULL
200260 GOLDHOFER

502918601 LIEBHERR
605109100 BENALU
3345107R1 SEDDON ATKONSON

M16X1,5 M16X1,5
M16X1,5 M16X1,5

M16X1,5 M16X1,5

Vv

10140.0

10140.0



—

CLAMP ANGLE
KELEPGE AGISI

IS FREN KORUGU
ICE BRAKE CHAMBER

AIR ANGLE
HAVA GIRiS ACISI

Type / Tip

Operating Pressure
Caligma Basinci

SFK

Max 10 Bar

Permissible Medium
Caligma Ortami

Air
Hava

Operating Temperature Range
Caligma Sicaklig

-40°C
+80°C

Control Pressure
Kontrol Basinci

13 bar

Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

13986.00
13111.887
12237.75 ]

8 BAR

11363.63
10489.50

[

6.8 BAR

9615.38"

8741.257]
7867.13 ]
6993.00
6118.88]
5244,75]
4370.63
3496.50
2622.38
1748.25 ]

874.13_

Kuvvet (N.)

6.5 BAR

0.00 T
5588

Strok

f O 3 o=

(mm.)

FIG. 1



iS FREN KORUGU SERVK;E

ICE BRAKE CHAMBER

10140.1
STROKE 57
FIG. 1

KANCA KANCA | WABCO |KNORR OEM i HAVAGIRIS | T.LAS. | CATAL

. s AIR PORT GAITER] YOKE
YENI KOD ESKI KOD CODE FIG. | Thread | Length
NEW CODE OLD CODE Vida | Uzunluk

L1 L2 L3 L4
BS0024 10021 | AA.10102.16 1 [ M16X15 320 | M16X15 M16X1,5 <« 101401



iS FREN KORUGU SERVK:E

ICE BRAKE CHAMBER

CLAMP ANGLE
KELEPGE ACISI

\{%” L2
AIR ANGLE
HAVA GIRIS ACISI

Type / Tip SFK

Operating Pressure |

Caligma Basinci Max 10 Bar /\ /\ /\

Permissible Medium Air JAWAVA
Caligma Ortamu Hava V v v

Operating Temperature Range -40°C
Caligma Sicaklign +80°C

Control Pressure

13 bar

Kontrol Basinci

Permissible Leakage

Y
Miisade Edilen Kagak 10 et/ min

11996.00 5
11246.257 7 BAR
10496.50 ]

9746.75 ]

o
=]
2
X

8997.00-
8247.257]
7497.50 ]
6747.75
5998.00
5248.257]
4498.507]
3748.75]
2999.00
2249.257
1499.50]
749.75
0.00

6.5 BAR

Kuwvet (N.)

Strok (mm.)

FIG. 2



KANCA
YENi KOD
NEW CODE

BS0024 10024

BS0024 10025

BS0024 10026

BS0024 10027

BS0024 10028

BS0024 10029

BS0024 10022

BS0024 10023

IS FREN KORUGU
ICE BRAKE CHAMBER

10140.0

10147.1

10140.1 10149
FIG. 2 10144.1
KANCA | waBco |KNORR OEM Sl HAVAGIRIS ~ |T.LAS. | GATAL
s PUSH ROD AIR PORT GAITER] YOKE
ESKI KOD CODE FIG. | Thread | Length
OLD CODE Vida | Uzunluk
L1 L2 L3 L4
AA.10102.9 2  M16X1,5 280 M16X1,5 M16X1,5 N4 10140.0
AA.10102.10 2 | M16X1,5 200 M16X1,5 M16X1,5 - 10140.0
AA.10102.38 = 423 106 0880 = BX3538 1522124 DAF 2 M16X15 35 — M16X1,5 — 10144 1
1305777 SCANIA
01305777 SCANIA
001305777 SCANIA
AA.10102.49 2  M16X1,5 187 M16X1,5 M16X1,5 — 10149
423106 4500 BX3538 1313844 SCANIA 2 | M16X1,5 38 - M16X1,5 N4 10144 1
AA.10102.0 2 M16X1,5 320 M16X1,5 M16X1,5 N4 101471
AA.10102 2  M16X15 340 M16X1,5 M16X1,5 N4 10140.1
AA.10102.8 423106 9000  BZ3537 0004207424 MB 81511016115 MAN 2 | M16X1,5 186 M16X1,5 M16X1,5 N4 10140.0
BZ3523 0004207524 MB 81511019105 MAN
BZ3533 0004209124 MB 07010024 NEOPLAN
BZ3534 0004209224 MB 080220100 NEOPLAN
BZ3520 0014203524 MB 11015181 NEOPLAN
BZ3521 0014203624 MB 0834483 DAF
BX3534 0014203724 MB 834483 DAF
BX3535 0014203824 MB BBU5932 DAF
BX3538 0014203924 MB 6212188 VOLVO
BX3507 0014206724 MB WA4231069000 VOLVO
295533 0014206824 MB 3345108R1 IVECO
295362 0014207424 MB 1738480 SCANIA
1252423000AT | 0044208618 MB 1010154 SCANIA
1252423000 0044208718 MB 38855200 RENAULT
1252400000 0064201618 MB 0038855200 RENAULT
0064201718 MB 4231069000 RENAULT
81511016080 MAN 5000809565 RENAULT
81511016081 MAN 5021170051 RENAULT
81511016082 MAN 0203273100 BPW
81511016083 MAN 0544415010 BPW
81511016105 MAN 0544415100 BPW
81511016111 MAN 0544415110 BPW




CLAMP ANGLE
KELEPGE ACISI

IS FREN KORUGU
ICE BRAKE CHAMBER

A|R ANGLE
HAVA GIRI§ AGISI
Type / Tip SFK
Operating Pressure
Caligma Basinci Max 10 Bar
Permissible Medium Air
Caligma Ortamu Hava
Operating Temperature Range -40°C
Caligma Sicaklign +80°C
Control Pressure
Kontrol Basinci 13 bar
Permissible Leakage 10 e’/ mi
Miisade Edilen Kagak cm/min
12339.00
11567.81
10796.63 ]
10025.44 | 6 DAR
9254.254
8483.06
_. 7711.88] =
Z  6940.69 ] 2
§ 616950 E
S 5398317 2
4627137
3855.94 4
3084.75
2313.567
1542.38]
771194

0.00

FIG. 1

14955.00
14020.317]
13085.63 ]
12150.94
11216.25+
10281.56 7
9346.88 ]
8412.19
7477.50 -
6542.817
5608.13
4673.44
3738.75
2804.06
1869.38 ]

934.69

0.00



iS FREN KORUGU SERVK:E

ICE BRAKE CHAMBER

10140.0

101471
STROKE 65 STROKE 75
FIG. 1 FIG. 2
KANCA KANCA | waBcO |KNORR OEM SAFT HAVAGIRIS | T.LAS. | CATAL
" " PUSH ROD AIR PORT GAITER] YOKE
=2 Eskikop | copE A6 | vens | Longth
NEW CODE OLD CODE Vida | Uzunluk
L1 L2 L3 L4
BS0027 10030 4231090100 3085253  VOLVO U MAGX15 247 | MA6X15 MieX1s | — | -
423109 0130 1932632 SCANIA
7420872026 RENAULT
BS0027 10031 | AA10092 | 4231091020 81511016455 MAN 2 MiEX15 20 | MIEXi5  — o 101474
81511019455 MAN
1932633 SCANIA
BS0027 10032  AA.10092.4 423109 1200 81511016481 MAN 2 | M16X1,5 23 M16X1,5 — Vv 101471
BS0027 10033 | AA10092.2 2 Mi6X15 185 | MIEX15 — o 101400



iS FREN KORUGU SERVK:E

ICE BRAKE CHAMBER

CLAMP ANGLE
KELEPGE AGISI

AIR ANGLE
HAVA GIRI§ AGISI
Type / Tip SFK
Operating Pressure |
Caligma Basinci Max 10 Bar A /\ /\
Permissible Medium Air AWAVAY
Caligma Ortamu Hava V v v
Operating Temperature Range -40°C
Caligma Sicaklign +80°C
Control Pressure
Kontrol Basinci 13 bar
Permissible Leakage 10 e’/ mi
Miisade Edilen Kagak cm /min
14463.00+ 16159.00
13559.06 ] 15149.06 1 7BAR
12655.13] 6 BAR 14139.13 ]
11751.19 ] 13129,19_\ 6.8 BAR
10847.25 12119.25] S
9943.317 11109.31 6.5 BAR
_ 9039.387) . 10099.387]
Z  B135.44 £ 9089.44 ]
T 7231.504 % 8079.50
S 6327.56] S 7069567
¥ 5423637 2 605963
4519.69 5049.69 -
3615.754 4039.75+4
2711.817 3029.81
1807.88 ] 2019.88 ]
903.94 4 1009.94
0.00 T T el 0.00 T
§ZRBSREEIB38RERR88RESE §g888REE828 SR8 EEE
s rmrEsedHs et EsEs g8 EE e T ® 2 HAEFAESISBEEEBERRE B
Strok (mm.) Strok (mm.)

FIG. 1 FIG. 2



ViS FREN KORUGU
VICE BRAKE CHAMBER

10140.0

10141.0
KANCA KANCA | waBcO |KNORR OEM SAFT HAVAGIRIS | T.LAS. | CATAL
" " PUSH ROD AIR PORT GAITER| YOKE
=2 Eskikop | copE . | vens. | Longth
NEW CODE OLD CODE Vida | Uzunluk
L1 L2 L3 L4
BS0030 10034 AA.10101 1 | M16X1,5 190 M16X1,5 M16X1,5 N4 10140.0
BS0030 10035 AA10101.2 1 IMIGX15 37 | MIGX15 MIBX15 | </ | 10140.0
BS0030 10036 423107 0100 20927147 VOLVO 1 IMA6X15 58 | MIGX15 MieX15s | — | -
BS0030 10045 AA.10101.30 5K14266 BMC 1 M16X1,5 200 = M16X1,5 N 10141.0
BS0030 10037 AA.10101.8 423107 9000  BX3604 8283850000 MB ASX0014021 FRUEHAUF = 2 M16X1,5 186 M16X1,5 M16X1,5 — 10140.0
AA.10101.13 BZ3636 0004208024 MB M02027203 FRUEHAUF
AA.10101.34 BX3605 8283572000 MB 50945152  KRONE
295534 834484 DAF 123300001 HALDEX
EF306AK = 0834484 DAF 502066208 LIEBHERR
BZ36364 705707 DAF 502920501 LIEBHERR
BBU5933 DAF
WA42310790000 VOLVO
1010155 SCANIA
1738481 SCANIA
5021170052 RENAULT
5000815361 RENAULT
0544416010 BPW
0544416100 BPW
0544416110 BPW
0203272900 BPW
203272900 BPW
4454103900 SAF /SAUER
175204 KOGEL
79545 KOGEL
945152 KOGEL
BS0030 10038 AA.10101.14 2 M16X1,5 180 M16X1,5 M16X1,5 — 10140.0
BS0030 10039 | AA 1010121 2 MI6X15 120 | MHGX15 MBX15 | — 101400
BS0030 10040 | AA1010133 1081461 VOLVO 2 TMI6X15 165 | M1GX15 MI6X15 | — 101400




FREN KORUGU SEche

E BRAKE CHAMBER

CLAMP ANGLE
KELEPGCE ACISI

ed EZ]M‘IG)H 5

L2

3] tH+{—te——t{— |@16

AIR ANGLE L4
HAVA GIRIS ACISI

Type /Tip SFK

Operating Pressure |

Caligma Basinci Max 10 Bar /\ /\ /\

Permissible Medium Air JAWAVA
Caligma Ortamu Hava V v v

Operating Temperature Range -40°C
Caligma Sicaklign +80°C

Control Pressure

13 bar

Kontrol Basinci

Permissible Leakage

Y
Miisade Edilen Kagak 10 cm'/ min

Kuvvet (N.)
w
=]
JG R
3
1
I
L4,
Py

Strok (mm.)

FIG. 1



FREN KORUGU SEche

E BRAKE CHAMBER

STROKE 57
FIG. 1
AFT iRi
KANCA KANCA | WABCO | KNORR OEM R el
\(Z(IGHM EskikoD |  CODE FiG. Length
NEW CODE  [IJIJelohif: Uzunluk 13 L4
L2
BS001220001 | AA10069 | 4235030000 139259 DAF 1 15 MI6X15  M16X1,5
BS0012 20002 BS3201 41211446 VECO 1 15 MI6X15  M16X1,5
K008766 41031955 IVECO



FREN KORUGU
E BRAKE CHAMBER

CLAMP ANGLE
KELEPGCE ACISI

L3

AIR ANGLE
HAVA GIRIS ACISI

Type / Tip

Operating Pressure
Caligma Basinci

SFK

Max 10 Bar

Permissible Medium
Caligma Ortami

Air
Hava

Operating Temperature Range

Caligma Sicaklig

-40°C
+80°C

Control Pressure
Kontrol Basinci

13 bar

Permissible Leakage

Miisade Edilen Kagak

10 cm’/ min

9582.00
8983.137
8384.25 ]
7785.38

4791.004
4192.13
3593.25 ]
2994.38
2395.50]
1796.637
1197.757]
598.88 |
0.00

Kuwvet (N.)

7186.50
Hioside 7.2 BAR
5988.75 ]
5389.88

aaaaaa
aaaaaa

Strok (mm.)

FIG. 1

aaaaaa
cccccc
T & 8 ® & ¥ ® N ® O ¥ @ N B S T AN B S

- M16x1.5

216



FREN KORUGU SEche

E BRAKE CHAMBER

STROKE 57
AFT iRI
KANCA KANCA | WABCO | KNORR OEM S e i
‘(= EskikoD |  CODE FiG, Length
AL OLD CODE Uzuk
L2 L3 L4
BS0014 20003 AA10068 | 4231147100 | BS3251 1505244 DAF 1 15 MIBX15  M16X15
1131782 1932638 SCANIA

0203276800 BPW
0203276900 BPW
05444300 BPW
13C3505412AA OTOKAR



FREN KORUGU SEche

E BRAKE CHAMBER

CLAMP ANGLE
KELEPGCE ACISI

ed EZ]M‘IG)H 5

L2

3] tH+{—te——t{— |@16

AIR ANGLE L4
HAVA GIRIS ACISI

Type / Tip SFK

Operating Pressure |

Caligma Basinci Max 10 Bar /\ /\ /\

Permissible Medium Air JAWAVA
Caligma Ortamu Hava V v v

Operating Temperature Range -40°C
Caligma Sicaklign +80°C

Control Pressure

13 bar

Kontrol Basinci

Permissible Leakage

Y
Miisade Edilen Kagak 10 et/ min

11467.00
10750.317
10033.63 7]

931 6.94-&_/“32"?
8600.25-
7883.56 7.2 BAR

7166.88
6450.19 ]
5733.50
5016.81]
4300.13 ]
3583.44 ]
2866.75
2150.06
1433.38 ]
716.69_
0.00

Kuwvet (N.)

wwwwwwwwwwwwwwwwww

Strok (mm.)

FIG. 1



FREN KORUGU
E BRAKE CHAMBER

AFT HAVA GIRI
YENI KOD ESKI KOD CODE FIG. Length
NEW CODE OLD CODE Uzunluk
L2 L3 L4
BS0016 20004  AA.10070 4231047150 = BS3328 1 15 M16X1,5 M16X1,5
1138572F
BS0016 20005  AA.10070.1 = 423504 0020 1 15 = M16X1,5
BS0016 20006  AA.10070.3 = 4231047100 = BS3300 A0064205224 MB 1 15 M16X1,5 M16X1,5
BS3315 0064205224 MB

0054202924 MB
0054203924 MB
0074207424 MB
A0054202924 MB
A0054203924 MB

1505241
1932621
0203277000
0203277100
0544432010
0544432020
3454106560
3454108160
334652
AJV4526
505812866
505812866/0
5812866
58128660

DAF

SCANIA
BPW

BPW

BPW

BPW
SAF/SAUVER
SAF/SAUVER
KOGEL
FRUEHAUF
KRONE
KRONE
KRONE
KRONE



FREN KORUGU SEche

E BRAKE CHAMBER

CLAMP ANGLE
KELEPGCE ACISI

e T Tmtexs

L2

3] tH+{—te——t{— |@16

AIR ANGLE L4
HAVA GIRIS ACISI

Type /Tip SFK

Operating Pressure |
Caligma Basinci Max 10 Bar A /\ /\
Permissible Medium Air (AWAVA
Caligma Ortamu Hava V v v
Operating Temperature Range -40°C
Caligma Sicaklign +80°C
Control Pressure
Kontrol Basinci 13 bar
Permissible Leakage 10 e’/ mi
Miisade Edilen Kagak cm /min
11857.00 12583.00~ 2762 00
11115949 1179656 1964.38
10374887 aBAR 11010.13 ] 1166.75 BBAR
mnl_\—/_\< 0323 65 & BAR ggss ;z
75 725
:ﬂgg_klﬁ\/zz AR ::oif- 877388
- M6 - Tae43] - TaTE25
Z 666956 65BAR Z 707794 ] Z 7nimes
54528.50 5291504 5351.00
g S187.44 g 5505.06 ] ; S583.38
4446.387] 471863 ] 478575
70531 393219 398813,
2004 284 145,75 3190.50-
2223181 2355319 2392 88
1482137 !S?}m: 1585 25
741.06. 78644 5 9763,
0 N PR PRy i = z =
TR EE TR T TENTERTE T TR EENTERIIR]
Strok (mm) Strok {mm.} Serak (mem)



IS FREN KORUGU SERVK:E

CE BRAKE CHAMBER

STROKE 57 STROKE 62 STROKE 75
FIG. 1 FIG. 2 FIG. 3
AFT HAVA GIRI
YENI KOD ESKI KOD CODE FIG. Length
NEW CODE OLD CODE Uzunluk
L2 L3 L4
BS0020 20007  AA.10071.6 | 4231050200 = BS3417 81511016384 MAN 1 15 M16X1,5 -
81511019384 MAN
1524853 DAF
BS0020 20008 = AA.10071 4235050040 | BS3436 4454106700 SAF/SAUVER 2 15 M16X15  M16X1,5
344144 KOGEL
BS0020 20009  AA.10071.1 | 4235050000  BS3404 A0074201224 MB 2 15 M16X15  M16X1,5
N2504016063 MAN
1517954 DAF
1932639 SCANIA
0203277400 BPW
0203277500 BPW
0544434010 BPW
0544434020 BPW
3454106760 SAF / SAUER
3454108260  SAF / SAUER
4454106760  SAF
337900 KOGEL
BS0020 20010 423 105 7000 81511016378 MAN - NEOPLAN 3 20 - M22X1,5
BS0020 20011 423105 7010 81511016377 MAN - NEOPLAN 3 20 - M22X1,5
BS0020 20012 = AA.10071.8 3 20 M22X15  M22X1,5



FREN KORUGU SEche

E BRAKE CHAMBER

CLAMP ANGLE
KELEPGCE ACISI

ed EZ]M‘IG)H 5

L2

3] tH+{—te——t{— |@16

AIR ANGLE L4
HAVA GIRIS ACISI

Type / Tip SFK

Operating Pressure |

Caligma Basinci Max 10 Bar /\ /\ /\

Permissible Medium Air
Caligma Ortamu Hava V v v
Operating Temperature Range -40°C
Caligma Sicaklign +80°C

Control Pressure

13 bar

Kontrol Basinci

Permissible Leakage

Y
Miisade Edilen Kagak 10 o'/ min

12302.00
11533.13
10764.25 ] 7 BAR
9995.38 |
9226.50 6,8 BAR
8457.63 e
7688.75_
6919.88_|
6151.00
5382.13
4613.25 ]
3844.38
3075.50
2306.63
1537.75]
768.88_]
0.00

6 BAR

Kuvvet (N.)

thththththththththth

Strok (mm.)

FIG. 1



FREN KORUGU SEche

E BRAKE CHAMBER

FIG. 1
AFT iRi
KANCA KANCA | WABCO | KNORR OEM R el
V(I Eskikop |  cope FiG. Length
NEWCODE [T Uzunluk
L2 L3 L4
BS0022 20013 4231107100 | BS3453 0074201324 MB 1 15 MI6X15  MI6X15

2121531 SCANIA
1932635 SCANIA
0544435020 BPW
0203277700 BPW
0203277600 BPW



FREN KORUGU SEche

E BRAKE CHAMBER

CLAMP ANGLE
KELEPGCE ACISI

ed EZ]M‘IG)H 5

L2

3] tH+{—te——t{— |@16

AIR ANGLE L4
HAVA GIRIS ACISI

Type / Tip SFK

Operating Pressure |
Caligma Basinci Max 10 Bar /\
Permissible Medium Air JAWAVA
Caligma Ortamu Hava V
Operating Temperature Range -40°C
Caligma Sicaklign +80°C
Control Pressure
Kontrol Basinci 13 bar
Permissible Leakage 10 e’/ mi
Miisade Edilen Kagak cm/min
14828.00 11289.00
13901.257 10583.44

- NeRREEaEmmamy.lan s

12047.75 ] 9172.31] 6BAR
11121.00- 7.2 BAR 8466.75- /
10194.257 A 7761.19
9267.50 ] < . 708563

Z  834075] Z  6350.06]
7414.00 T 5644.50-
§ 6487.25 GaBA S 4938.947
> 5560.50 ] ¥ 423338
4633.75 3527.81
3707.00 2822254
2780.25 2116.69
1853.50 1411137
926.75._ 705.56
0.00 +————T—— T T T T T 0.00+—
5985589383883 8888388388 gge93fegsgs39¢93288¢88¢8;¢
S s dE I ESINEEILE T E e dd eI Y ERET S ERE
Strok (mm.) Strok (mm.)

FIG. 1 FIG. 2



S FREN KORUGU
CE BRAKE CHAMBER

AFT HAVA GIRi
YENi KOD ESKi KOD CODE FiG. Length
\[3Xee]s]=88 OLD CODE Uzunluk |
L2 L3 L4
BS0024 20014 AA.10072.12 @ 423506 0020 = BS3547 445410690 SAF/ SAUER 1 15 M16X1,5 M16X1,5
[138530F 344143 KOGEL
BS0024 20015 AA.10072 423 506 1400 1542893  SCANIA 2 15 - M16X1,5
BS0024 20016  AA.10072.1 423506 1410 2 15 - M16X1,5
BS0024 20017 AA.10072.3 423506 1430  BS2504 1542896  SCANIA 2 15 - M16X1,5
BS0024 20018 AA.10072.4 423 506 0700 3177338 VOLVO 2 A 15 M16X1,5 M16X1,5
BS0024 20019 AA.10072.7 423 506 0200 1373681 DAF /VDL BUS 2 15 M16X1,5 M16X1,5
1791409 DAF
BS0024 20020 AA.10072.11 = 423506 0010  BS3509 A0074201424 MB 2 15 M16X1,5 M16X1,5
0074201424  MB
1517956 DAF
500590336 IVECO
1932640 SCANIA
0203277800 BPW
0203277900 BPW
0544436010 BPW
0544436020 BPW
3454106960  SAF / SAUER
337902 KOGEL
10218884 LIEBHERR
BS0024 20021 AA.10072.14 = 423 506 1300 20742389 VOLVO 2 A 15 M16X1,5  M16X1,5
423506 1310 7420533191 RENAULT
5001866301 RENAULT
BS0024 20022 AA.10072.15 423 506 1040 21403468 VOLVO 2 A 15 M16X1,5 M16X1,5
423 506 0630 7420824261 RENAULT
BS0024 20023 AA.10072.16 423 506 1030 21403469 VOLVO 2 A 15 M16X1,5 M16X1,5
423 506 0620 7420824262 RENAULT




FREN KORUGU SEche

E BRAKE CHAMBER

CLAMP ANGLE
KELEPGCE ACISI

e T Tmtexs

L2

3] tH+{—te——t{— |@16

AIR ANGLE L4
HAVA GIRIS ACISI

Type /Tip SFK

Operating Pressure |
Caligma Basinci Max 10 Bar A /\ /\
Permissible Medium Air AWAVAY
Caligma Ortamu Hava V v v
Operating Temperature Range -40°C
Caligma Sicaklig +80°C
Control Pressure
Kontrol Basinci 13 bar
Permissible Leakage 1 3, .
Miisade Edilen Kagak 0 ent’/ min
11289.00 16599.00
10583.44: 15561.567
9877.88 14524.13 | 8,5 BAR
917231 6BAR 13486.69 |
8466.75+ / 12449.254
7761.197 11411.817]
_. 705563 . 10374387
Z  6350.06_| Z  9336.94]
T 5644.50 ‘g 8299.50
S 4938.947 5 720206]
¥ 423338 6224.63 |
3527.81 5187.19 4
2822 25 4149.75
2116.697 3112.317
1411.137] 2074.88 7]
705.56 1037.44
0.00 LISt i EIabl S e deTbl oebi s AL AL AL Giia aiin asii e 0.00 e i i
g8 8 8 g gEaggEEREEgEgIcoRegeas
SR EEEERRERER R R RDE Se2igRisieisiiNRIENgg
Strok (mm.) Strok (mm.)

FIG. 2 FIG. 3



S FREN KORUGU
CE BRAKE CHAMBER

STROKE 65 STROKE 75
FIG. 2 FIG. 2A FIG. 3
AFT Rl
KANCA KANCA WABCO | KNORR OEM PUEH ROD HA}‘FQAP%E'TS
(2 EskikoD | CODE FIG. Length
2L\ OLD CODE Uzunluk
L2 L3 L4
BS0024 20024 423506 0810 20361838 VOLVO 2 A 15 M16X1,5  M16X1,5
68323861 MERITOR
BS0024 20025 423 506 1000 20410138 VOLVO 2 A 15 M16X1,5  M16X1,5
BS0024 20026 423 506 1020 20708819 VOLVO 2 A 15 M16X1,5  M16X1,5
423 506 0640 7421483526 RENAULT
BS0024 20027 BS2514 81511016467 MAN 2 15 - M22X1,5
K001027 81511016483 MAN
BS0024 20028 BS2515 81511016466 MAN 2 15 - M2x15
K001028 81511016484 MAN
BS0024 20029 AA.10072.18 | 423106 7010 = BS3537 81511016435 MAN 3 20 - M22X1,5
81511016437 MAN
81511019435 MAN
81511016499 MAN
BS0024 20030 BS3526 81511016491 MAN 3 26 = M22X1,5
1132723 81511016425 MAN
81.51101.6491 MAN
BS0024 20031 BS3528 81511016424  MAN 3 26 - M22X1,5
1133909 81.51101.6490 MAN

81.51101.6424 MAN
81511016490 MAN




FREN KORUGU SEche

E BRAKE CHAMBER

CLAMP ANGLE
KELEPGCE ACISI

ed EZ]M‘IG)H 5

L2

3] tH+{—te——t{— |@16

AIR ANGLE L4
HAVA GIRIS ACISI

Type /Tip SFK

Operating Pressure |

Caligma Basinci Max 10 Bar /\ /\

Permissible Medium Air JAWAVA
Caligma Ortamu Hava V
Operating Temperature Range -40°C
Caligma Sicaklign +80°C

Control Pressure

13 bar

Kontrol Basinci

Permissible Leakage

Y
Miisade Edilen Kagak 10 cm'/ min

14463.00
13559.06
12655.13] 6 BAR
11751.19 ]
10847.25+
9943.31]
9039.38
8135.44
7231.50
6327.56
5423.63
4519.69
3615.75
2711.81
1807.88 ]
903.94 |
0.00

Kuvvet (N.)

MmN o @ M~ @8 % &6 = 8

Strok (mm.)

FIG. 1



FREN KORUGU SEche

BRAKE CHAMBER

STROKE 65
FIG. 1
AFT Rl
KANCA KANCA WABCO | KNORR OEM pUEH ROD HA}‘FQAP%E'TS

(2 EskikoD | CODE FIG. Length
2L\ OLD CODE Uzunluk

L2 L3 L4

BS0030 20032 AA.10073 423 507 0000 1516161 SCANIA 1 15 M16X1,5



S FREN KGRUGU SERVICE

RVICE BRAKE CHAMBER

CLAMP ANGLE
KELEPGE ACISI

FLANGE ANGLE
FLANS ACISI

________ i _ 1
\ G
k! ’/ |
= L4 ; --‘
AIR ANGLE
HAVA GIRIS ACISI
Type / Tip SFK
Operating Pressure |
Caligma Basinci Max 10 Bar A /\ /\
Permissible Medium Air JAWAVA
Calisma Ortamu Hava V v v
Operating Temperature Range -40°C
Calisma Sicakhigt +80°C
Control Pressure
Kontrol Basinci 13 bar
Permissible Leakage 1 S, .
Miisade Edilen Kagak 0 cni/ min
4924.004
4616251 Bgnat
4308.50 |
4000.75 |
3693.00
3385.257
—~ 3077.50 ]
£ 2769.75 ]
T 2462.004
E 2154.257
¥ 1846.50]
1538.75
1231.00 1
923.257
615.50 ]
307.75 4
0.00 T T T — T T
S 2883888882888 8¢ERBgRER S
cwardd e gHEERIEBEIYEES
Strok (mm.)

FIG. 1



KANCA
YENi KOD

NEW CODE

BS0009 30001

BS0009 30002

BS0009 30009

FREN KORUGU
RVICE BRAKE CHAMBER

STROKE 44,5

___T9 __/SERVICE

FIG. 1
KANCA | WABCO | KNORR OEM i HARGIRIS | NeE
ESKI KOD CODE FIG. | Thiead | Length
OLD CODE Vida | Uzunluk
L1 L2 L3 L4
AA.10096 4231420010 = EF90AB 81511019270 MAN 1 13/4-12UNS 138 - M16X1,5 =
BZ3106 1517953 DAF
Bz3217 6873710 VOLVO
167388 4464477 IVECO
158477 04452022 IVECO
02520947 IVECO
04462022 IVECO
04713104 IVECO
04724488 IVECO
61598729 IVECO
EF90AB MARELLI
AA.10096.2 1 M48X2 138  M16X1,5 M16X1,5 -
1 M48X2 158,5 M16X1,5 M16X1,5 —




S FREN KGRUGU SERVICE

RVICE BRAKE CHAMBER

CLAMP ANGLE
KELEPGE ACISI

FLANGE ANGLE
FLANS ACISI

L3 ]

|L1

L4

| Al

AIR ANGLE
HAVA GIRIS AGISI

Type / Tip SFK

Operating Pressure |

Caligma Basinci Max 10 Bar A /\ /\
Permissible Medium Air JAWAVAY
Calisma Ortamu Hava V v v
Operating Temperature Range 40°C

Calisma Sicakhigt +80°C

Control Pressure

Kontrol Basinci 13 bar

Permissible Leakage -

Miisade Edilen Kagak 10 et/ min

6712.00 7066.00 6174.00

625250 6624.38 ] 5788.13

5873.00 ] 6.8 BAR 6182.75 ] 5402.25 QeSO L Lo

5453.50.&/”_\'& §741.13 ] — 501638 ]

5024.00- 5299.50- 463050

4614.507 4857881 el 4244631

. 4185007 . 441625 . 385875 6 BAR
Z 377550 Z 3a7463] Z 47288
§ 3356.00-] T 353300 E 3087.00
2936.50°] g 309138 270113
= 2517.00] 2649.75 ] = 2315.25]

209750 2208.13 ] 1920.38

1678.00 1766.50 4 1543.50 4

1258.50 1324881 157,631

839.00] 883257 T1.75]

419.50] 44163] 385,88 ]

00 +—— T 00 e e
EERREREEESEsSsERRLREE gges IEEEEREEE R R R geESEREERDERCERORGRERRS
emMers A RERRARATLLITER S ddsdNs s EITRRARRYYSETIES emesod2HNBS2ARESISEARER S

Strok (mm.) Strok (mm.) Strok (mm)

FIG. 1 FIG. 1 FIG. 2



KANCA

YENi KOD
NEW CODE

BS0012 30003

BS0012 30004

BS0012 30005

BS0012 30006

BS0012 30007

BS0012 30008

IS FREN KORUGU
ERVICE BRAKE CHAMBER

STROKE 44,5 - 51 STROKE 53
FIG. 1 FIG. 2

KANCA | WABCO | KNORR OEM i HARGIRIS | NaE
ESKI KOD CODE FIG. | Thread Length
OLD CODE Vida | Uzunluk

L1 L2 L3 L4
AA.10098 93CT2025EB  FORD 1 13/4-12UNS 148 |M16X1,5 M16X1,5 —
AA.10098.0 93CT2025FA  FORD 1 | 13/4-12UNS 163 M16X1,5 M16X1,5 =
AA.10098.1 1 M48X1,5 174 |M16X1,5 M16X1,5 =
AA.10098.3 1 13/4-12UNS 138 | M16X1,5 M16X1,5 —
AA.10098.7 | 4231432000 = EF120FY 4835038  IVECO 1 M48X2 187 = M16X1,5 — —
423070 1200 2 - 194 - M16X15




E CHAMBER

CLAMP ANGLE
KELEPGE AGISI

AIR INLET ANGLE
HAVA GIRIS AGISI

L4

1 IM16X1.5

L1

,{--_-_@. [P S 1 1 N PN E s —

[I|]

L2

Type / Tip D/D

Operating Pressure Air
Caligma Basinc Hava

Permissible Medium 11 12
Calisma Ortam1 10 bar | 8.5 bar 12] |11

Operating Temperature Range 40°C I A A A .A %ﬁ \/\/\/\
Calisma Sicakligr +80°C VY

Control Pressure 11 12 =
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage

Miisade Edilen Kagak

10 cm'/ min

11228.00
10526.257 8,5 BAR
9824.50
912275 Z
8421.00
7719.25
7017.50]
6315.75
5614.00
4912.25
4210.50]
3508.75
2807.00
2105.25
1403.50 ]
701.75
0.00

Kuwvvet (N.)

13.400
16.750
20.100
33.500
46.900 7]
50.250
53.600
56.950
60.300
63.650
67.000 -

&
-1

3350

6.700
10.050
23.450
26.800
30.150
40,200
43.550

=
I
]
®
m.

Strok (mm.)

FIG. 1



KANCA
YENi KOD
NEW CODE

BD1624 10201

BD1624 10202

KORUGU
E CHAMBER

STROKE 57/57

DIYAFRAM / DIiYAFRAM
DIAPHRAGM / DIAPHRAGM

10140.0

FIG. 1

KANCA | waBco | waBco [KNORR OEM e |[TAAERS | L G

" h AIR PORT | GAITER| YOKE
ESKI KOD |ALTERNATIVE| ESKiKOD A6 | iveng | Longth
OLDCODE | CODE | OLD CODE Via | Uzunlu

L1 L2 L4

AA.10105 1 M16X1,5 180 | 3/8-18NPTF 3 10140.0
AA.10105.3 1 M16X1,5 200 | M16X1,5 V101400



E CHAMBER

CLAMP ANGLE
KELEPGE AGISI

AIR INLET ANGLE
HAVA GIRIS AGISI

L4

1 IM16X1.5

L1

[I|]

R —— L S

L2

Type / Tip D/D

Operating Pressure Air
Caligma Basinci Hava

Permissible Medium 11 12
Calisma Ortam1 10 bar | 8.5 bar 12| |11
Operating Temperature Range 40°C I A A A .A \/\/\/\
Calisma Sicakligr +80°C A

Control Pressure 11 12 -
Kontrol Basinci 13 bar | 10 bar

Permissible Leakage
Miisade Edilen Kagak

10 cm'/ min

12482.00
11701.8871 8,5BAR
10921.75 7
10141.63 il
9361.50
8581.38]
7801.25 ]
7021.13
6241.00
5460.88]
4680.757]
3900.63
312050
2340.38
1560.25]
780.13
0.00 +———

Kuvvet (N.)

11,250
15.000
18,750
22,500
26.250
30,00
33.750
56.250
60,00
63.750
71.250
75.000 <

67.500



E CHAMBER . .
DIYAFRAM / DIYAFRAM
DIAPHRAGM / DIAPHRAGM

10140.0
STROKE 64/64
FIG. 1

KANCA KANCA | wABCO | WABCO |KNORR OEM rusiron | TAACIRIS L ] okt
VENLCHI ESKiKoD [ALTERNATIVE| ESKiKOD Fi. | ivead | Lengt

VL3 oo copE | CODE | OLD CODE Vida | Uzunuk

L1 L2 L4

BD2024 10203 KNC.AA.10117 1 M16X1,5 203 M16X1,5 v 101400



E CHAMBER

CLAMP ANGLE
KELEPGE AGISI

AIR INLET ANGLE
HAVA GIRIS AGISI

L4

1 IM16X1.5

L1

,{--_-_@. [P S 1 1 N PN E s —

[I|]

L2

Type / Tip D/D

Operating Pressure Air
Caligma Basinc Hava

Permissible Medium 11 12
Calisma Ortam1 10 bar | 8.5 bar 12] |11

Operating Temperature Range 40°C I A A A .A %ﬁ \/\/\/\
Calisma Sicakligr +80°C VY

Control Pressure 11 12 =
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage .
Miisade Edilen Kagak 10 cmi/ min

14848.00
13920.007
12992.00 ] 8/‘5 BAR
12064.00
11136.00
10208.00
9280.00 ]
8352.00
7424.00
6496.00
5568.00 |
4640.00
3712.00+
2784.00
1856.00 ]
928.00
0.00 —

Kuvvet (N.)

0.000
80
1600
11.400
15.200 7]
19.000 ~
22,800
26,600
30.400
34.200
38,000
41.800
45,600
49.400
53.200 7]
57,000
60.800
64,600
68.400
72,200
76.000 =

Strok (mm.)

FIG. 1



E CHAMBER . .
DIYAFRAM / DIYAFRAM
DIAPHRAGM / DIAPHRAGM

10140.0
STROKE 64/64
FIG. 1

KANCA KANCA | wABCO | WABCO |KNORR OEM rusiron | TAACIRIS L ] okt

VENLCHI ESKiKoD [ALTERNATIVE| ESKiKOD Fi. | ivead | Lengt

VL3 oo copE | CODE | OLD CODE Vida | Uzunuk

L1 L2 L4

BD2424 10204  AA.10116 1 M16X1,5 180 | 3/8-18NPTF </  10140.0
BD2424 10205 AA.10116.6 1 M16X1,5 210  M16X1,5 <  10140.0



E CHAMBER

CLAMP ANGLE
KELEPGE AGISI

AIR INLET ANGLE
HAVA GIRIS AGISI

=
SR —————{ T {11
e
Operating Pressure Air
Caligma Basinc Hava
Permissible Medium 11 12
Caligma Ortami 10 bar | 8.5 bar 12| |1
Operating Temperature Range 40°C I AAA." %ﬁ \/\/\/\
Calisma Sicakligr +80°C A
Control Pressure 11 12 =
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage 10 o'/ mi
Miisade Edilen Kagak cm/min
11746.00 5 11584.00
11011.887 10860.00
10277.75] 6.5BAR 10136.00 ] 6,5 BAR
9543.63 : 9412.00 2
8809.50+ 8688.00
8075.387 7964.007
. 734125 . 7240.00
£ 6607.13 Z  6516.00_
T 5873.00 E’ 5792.00
S 5138881 2 5068.00]
¥ 4404757 4344.00]
3670.63 - 3620.00
2936.50+ 2896.00
2202.387 2172.00
1468.25] 1448.00]
73413 724.00 4
0.00 T T e O TR D T T T L T R T 0.00 R RN Er ) L e e eI e e Dy e B e e |
Eggggeseesgegggegsesgsgs E3§9g8R 28RS RRBEEE
e 22 R83IBTeIeTREEZEIERERE e¥T e 2L HERBSITEHFBERRBEE
Strok (mm.) Strok (mm.)

FIG. 1 FIG. 2



KE CHAMBER : .
DIYAFRAM / DIYAFRAM

DIAPHRAGM / DIAPHRAGM

10140.0

STROKE 64/64 STROKE 75/75
FIG. 1 FIG. 2
KANCA KANCA | waBco | waBco [KNORR OEM e |[TAAERS | L | G
" " , AIR PORT | GAITER| YOKE
VLRI ESKiKoD [ALTERNATIVE| ESKiKOD A6 | iveng | Longth
L OLD CODE | CODE | OLD CODE Viia | Uzunlu
L1 L2 L4
BD2430 10206 AA.10104 1 M16X1,5 36  3/8-18NPTF g g
BD2430 10207 AA.10104.1 1 M16X1,5 170 M16X1,5 </ 10140.0
BD2430 10208 AA.10104.3 925 376 2000 BX7514 0883547 DAF 1 M16X15 225 M16X1,5 = -
925 376 0050 BX7518 0879098 DAF
925 361 1000 1506381 DAF
5021170324 RENAULT
BD2430 10209 AA.10113.0 = 9253713090 0879096 DAF 2 M16X1,5 170 = M16X1,5 o 10140.0
925 376 0030
925 376 1030
BD2430 10210 AA.10113.15 2 M16X1,5 160 = M16X1,5 ° 10140.0
BD2430 10211 | AA.10113.16 2 M16X15 140 = M16X1,5 o 10140.0
BD2430 10212 = AA.10113 2 M16X15 36  3/8-18NPTF </ -
BD2430 10213  AA.10113.1 2 M16X1,5 170 M16X1,5 < 10140.0
BD2430 10214 AA.10113.2 925 376 1020 0883026  DAF 2 M16X1,5 215 M16X1,5 o 10140.0
883026  DAF
BD2430 10215 = AA.10113.3 925 376 1070 2 M16X15 64 M16X1,5 /1101400
BD2430 10216  AA.10113.8 925 371 2000 BX7523 1325352 DAF 2 M16X1,5 215 | M16X1,5 - -
AA10113.14 | 925 371 3000 BX7515 0544420010 BPW
925 376 0000 0544420040 BPW
925 376 1000 0544420100 BPW
0544420110 BPW
0203273900 BPW
5021170326 RENAULT
BD2430 10217 AA.10113.9 925 376 1060 0883545 DAF 2 M16X1,5 210 M16X1,5 = 10140.0
AA.10113.11 WA9253761060 VOLVO

1935390 SCANIA



KORUGU 30/30 m

E CHAMBER

CLAMP ANGLE
KELEPGE AGISI

AIR INLET ANGLE
HAVA GIRIS AGISI

=
4 —————{ T L1
e
Type / Tip D/D
Operating Pressure Air
Caligma Basinc Hava
Permissible Medium 11 12
Caligma Ortami 10 bar | 8.5 bar 12| |1
Operating Temperature Range 40°C I A A A .A %ﬁ \/\/\/\
Calisma Sicakligr +80°C A
Control Pressure 11 12 =
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage 10 o'/ mi
Miisade Edilen Kagak cm/min
13704.00 14982.00
12847.507 6,5 BAR 1404563
11991.00 ] A 13109.25 6.5 BAR
11134.50 12172.88 /
10278.00+ 11236.50
9421.507 10300.13
. 856500 ~  9363.75
£ 770850 £ 8427.38 |
E 6852.00 T 7491.004
5995.50 5 6554.63
*  5139.00° *  5618.257
4282.50 4681.88 ]
3426.00 3745.504
2569.50 2809.137
1713.00] 1872.757]
856.50 4 936.38 4
0.00 LT IEE PO T YT CRYRD I rhes Ty JIen pypen i o s 0.00 LR A A s o L F e d
BEERSRE38888888R88828 53583882838 8§8828788238
Sem - P2P2HRERIEIRBRYER EzB88RF e T ezt dERBSIFTEEEEREE R
Strok (mm.) Strok (mm.)

FIG. 1 FIG. 2



KANCA

YENi KOD
NEW CODE

BD3030 10218

BD3030 10219

BD3030 10220

BD3030 10221

BD3030 10222

BD3030 10223

BD3030 10224

BD3030 10225

BD3030 10226

BD3030 10227

STROKE 64/64

N KORUGU
KE CHAMBER

STROKE 75/75

DIYAFRAM / DIiYAFRAM
DIAPHRAGM / DIAPHRAGM

10140.1

10141.0

BD3030 10228 = AA.10114.8

BD3030 10229

10141.
FIG. 1 FIG. 2 0141.3
KANCA | wasco | waeco |knORR OEM SAFT  |HAVAGIRIS) T LAS. | CATAL
" " PUSH ROD AIR PORT | GAITER| YOKE
ESKi KOD |ALTERNATIVE| ESKiKOD A6, | esad | ot
OLDCODE | CODE | oLD coDE Vida | Uzunluk
L1 L2 L4
AA.10103.5 1 | M16X1,5 310 M16X1,5 Vv -
AA.10103.7 DONFENG HOWO 1 M16X1,5 185 M16X1,5 Vv 10140.0
AA.10103 1 M16X1,5 185 3/8NPTF - 10140.1
AA.10103.16 1 | M16X1,5 165 M16X1,5 - 10140.0
AA.10103.17 1 | M16X1,5 32 M16X1,5 } 10141.3
AA.10103.18 1 M16X1,5 210 M16X1,5 - 10141.0
AA.10103.11 = 925 362 1000 1519143 DAF 1 M16X1,5 225 M16X1,5 - -
925 377 0020 0883549 DAF
925 377 2000 883549 DAF
5021170325 RENAULT
AA.10114.14 2 | M16X1,5 180 M16X1,5 - 10140.0
AA.10114 2  M16X1,5 185 3/8-18 NPTF| ~/  10140.0
AA.10114.1 925 372 2000 0883258 DAF 2 M16X1,5 215 M16X1,5 - 10140.0
925 372 3000 883258 DAF
925 377 0000 0879099 DAF
879099 DAF
925 377 1000 WA9253771000 VOLVO
1738483 SCANIA
0544421040 BPW
0544421110 BPW
4454105800 SAF
2 M16X1,5 185 M16X1,5 - 10140.0
AA.10114.13 2 M16X1,5 170 M16X1,5 - 10140.0
AA.10114.4




ORUGU

CHAMBER

AIR INLET ANGLE

HAVA GIRIS AGISI

LAMP ANGLE

KELEPCE ACISI

Type / Tip D/D

+

B ks [ et

Operating Pressure Air
Caligma Basinc Hava
Permissible Medium 12
Calisma Ortam1 10 bar | 8.5 bar
Operating Temperature Range -40°C
Calisma Sicakligr +80°C
Control Pressure 12

Kontrol Basinci

13 bar | 10 bar

Permissible Leakage

Miisade Edilen Kagak

10 cm'/ min

9203.00 -

8627.817
8052.63 ]
7477.44 ]

6902.25-
6327.06
5751.88 ]
5176.69
4601.50 4
4026.317
3451.13]
2875.94
2300.75-
1725.56
1150.38 ]

575.19 ]

Kuvvet (N.)

0.00

100 4
450

750-|

TH

13.400 7
186,
20,
23

150

F

30,

Strok (mm.)

FIG. 1

g §

el
L]

40,200

46.900 7
50.250 -
53,600 |
56.950

60.300 |
63.650 7
67.000 4

43,550

3

M16X1.5

| 216



CHAMBER . :
DIYAFRAM / DIYAFRAM
DIAPHRAGM / DIAPHRAGM

STROKE 57/57

FIG. 1
WS kanca | waBco | WABCO | KNORR OEM rusirop | TAvAGIRIS
VI Eskikop [ALTERNATIVE| Eski koD .| Lengh
IS oLb cobE | CODE | OLD CODE ok
L2 L4
BD1424 20201 AA.10081 1 15 M16X1,5



CHAMBER

AIR INLET ANGLE L4
HAVA GIRIS AGISI

o HiIM16X1.5

B | 318
— L2

3

ol
CLAMP ANGLE
KELEPCE AGIS|

Type / Tip D/D

Operating Pressure Air
Caligma Basinc Hava

Permissible Medium 11 12
Calisma Ortam1 10 bar | 8.5 bar 12] |11

Operating Temperature Range 40°C I A A A .A %ﬁ \/\/\/\
Calisma Sicakligr +80°C VY

Control Pressure 11 12 =
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage

Miisade Edilen Kagak

10 cm'/ min

11228.00
10526.257 8,5 BAR
9824.50
912275 Z
8421.00
7719.25
7017.50]
6315.75
5614.00
4912.25
4210.50]
3508.75
2807.00
2105.25
1403.50 ]
701.75
0.00

Kuwvvet (N.)

3350

6.700
10.050
13.400
16.750

33.500
46.900 7]
50.250
53.600
56.950
60.300
63.650
67.000 -

&
-1

20.100
23.450

g
| &

30.150
40,200
43.550

T
=
I
]
®
m.

Strok (mm.)

FIG. 1



CHAMBER . .
DIYAFRAM / DIYAFRAM
DIAPHRAGM / DIAPHRAGM

STROKE 57/57

FIG. 1
WS kanca | waBco | WABCO | KNORR OEM rusirop | TAvAGIRIS
VLI EskikoD [ALTERNATIVE[ ESKi KOD re.| "l
IS oLb cobE | CODE | OLD CODE ok
L2 L4
BD1624 20202  AA.10077.3 | 9253840010 BS7304 0544440010 BPW 1 15 M16X1,5
AA.10077.4 925384 0100 BS7305 0544440020 BPW
BS7309 4454107730 SAF
BS7310 4454107630 SAF
4454107230 SAF
1351624004 HALDEX
BD1624 20203 = AA.10077.5 | 9253840110 1 15 M16X1,5
BD1624 20204 925 384 0120 1 15 M16X1,5
BD1624 20205  AA.10077.1 | 925384 0130 1 15 M16X1,5
BD1624 20206 925 384 0140 1 15 M16X1,5



CHAMBER

AIR INLET ANGLE L4
HAVA GIRIS AGISI

o HET mi1ex1.5

E———+ | @16
| L2

3

ol
CLAMP ANGLE
KELEPCE AGIS|

Type / Tip D/D

Operating Pressure Air

Caligma Basinc Hava

Permissible Medium 11 12

Caligma Ortamu 10 bar | 8.5 bar 12111
Operating Temperature Range 40°C I A A A .A %ﬁ \/\/\/\
Caligma Sicaklig +80°C AL

Control Pressure 11 12 =
Kontrol Basinci 13 bar | 10 bar

Permissible Leakage 10 orri/ mi

Miisade Edilen Kagak cm/min

11228.00
10526.257] 8,5BAR
9824.50
912275 Z
8421.00
7719.25
7017.50]
6315.75 ]
5614.00
4912.25
4210.507]
3508.75
2807.00-
2105.25
1403.50]
701.75

0.00

Kuvvet (N.)

0.000

3.350

6700
10.050
13,400
16.750
20.100
40.200
43,550
46,900
50.250
53.600 |
56.950
60300 |
63.650 ]
67.000 -



CHAMBER : .
DIYAFRAM / DIYAFRAM
DIAPHRAGM / DIAPHRAGM

STROKE 57/57

FIG. 1
KANCA KANCA | waBco | waBco [kNORR OEM rusirop | TAvAGIRIS
VLI ESKikoD [ALTERNATIVE| ESKiKOD 7 A
ST OLD CODE | CODE | OLD CODE vk
L2 L4

BD1824 20207 925 473 0020 1 15 M16X1,5
BD1824 20208 925473 0010 1 15 M16X1,5
BD1824 20209 925 473 0090 1 15 M16X1,5



CHAMBER

AIR INLET ANGLE L4
HAVA GIRIS AGISI

o HiIM16X1.5

B | 318
— L2

3

ol
CLAMP ANGLE
KELEPCE AGIS|

Type / Tip D/D

Operating Pressure Air
Caligma Basinc Hava

Permissible Medium 11 12
Calisma Ortam1 10 bar | 8.5 bar 12] |11

Operating Temperature Range 40°C I A A A .A %ﬁ \/\/\/\
Calisma Sicakligr +80°C VY

Control Pressure 11 12 =
Kontrol Basinci 13 bar | 10 bar

Permissible Leakage
Miisade Edilen Kagak

10 cm'/ min

12482.00
11701.88
10921.757]
10141.63
9361.50-
8581.387
7801.257]
7021.13
6241.00-
5460.88 ]
4680.75 7]
3900.63
3120.50-
2340.387
1560.25]
780.13

0.00+——

8,5 BAR

Kuvvet (N.)

18.750
22.500
26.250
30,000
33.750
37.500
41.250
45,000
48,750
52500 7
56.250
60.000
63.750
67.500
71.250
75.000 -

Strok

mm.)

FIG. 1



ORUGU 20/24 / DD |
CHAMBER ] ]
DIYAFRAM / DIYAFRAM
DIAPHRAGM / DIAPHRAGM

STROKE 64/64

FIG. 1
KANCA KANCA | WABCO | WABCO |KNORR OEM rusirop | TAvAGIRIS
V=Ll ESKiKOD |ALTERNATIVE| ESKi KOD 7 A
N0 OLDCODE | CODE | OLD CODE Uzunluk
L2 L4
BD2024 20210 = AA.10078 1 15 M16X1,5
BD2024 20211  AA.10078.1 = 925380 1010 BS7400 0544444010 BPW 1 15 M16X1,5
925 470 0000 BS7401 0544444020 BPW
925470 0010 BS7402 4454107830 SAF
BS7403 4454107930 SAF

1352024003  HALDEX
1352024004  HAKDEX



CHAMBER

AIR INLET ANGLE L4
HAVA GIRIS AGISI

o HiIM16X1.5

e e

ol
CLAMP ANGLE
KELEPCE AGIS|

Type / Tip D/D

Operating Pressure Air
Caligma Basinc Hava

Permissible Medium 11 12
Calisma Ortam1 10 bar | 8.5 bar 12] |11

Operating Temperature Range 40°C I A A A .A \/\/\/\
Caligma Sicaklig +80°C AL

Control Pressure 11 12 -
Kontrol Basinci 13 bar | 10 bar

Permissible Leakage
Miisade Edilen Kagak

10 cm'/ min

14848.00+

13920.001
12992.00 ] 8,5 BAR
12064.00 ]
11136.00
10208.001

9280.00 7]
8352.00
742400
6496.00
5568.00 ]
4640.00
3712.004
2784.001
1856.00 ]
928.00_
0.00 T T

£18

=

Kuvvet (N.)

g88888¢8¢8
2T e g3

&8 3 =
Strok (mm.)

11.400
15.200 7
19.000
22.800
57.000 -
60.800 |
64.600
68.400

72.200
76.000 -

FIG. 1



CHAMBER : .
DIYAFRAM / DIYAFRAM
DIAPHRAGM / DIAPHRAGM

STROKE 64/64

FIG. 1
KANCA KANCA | WABCO | WABCO |KNORR OEM rusirop | TAvAGIRIS
VAL ESKiKOD [ALTERNATIVE| ESKiKOD e | g
N0 OLDCODE | CODE | OLD CODE Uzunluk
L2 L4
BD2424 20212 AA.10079 1 15 M16X1,5



icten Nefeslikli Fren Koriigii Montaj Talimati

1 - Universal Tip Fren Kérugu

Otomotiv sanayiinde montaj sureleri cok 6nemlidir, bu
yuzden her aragta kullanilan fren kéraginin baglant
detaylari herhangi bir ek ayarlamaya ihtiyac
gerektirmemelidir. Bu ihtiyaci kargilamak igin birgok
farkli kombinasyonda S-Cam fren kortugu uretiimekte-
dir.

KANCA, stok miktarlarini azaltmak i¢in, herhangi bir
teknisyenin mudahalesi ile intiyaca cevap verebilecek
universal tip fren kéragu de Gretmektedir. Bu sekilde
hem ylksek miktarlarda stok tutmaya ihtiyac olmaya-
cak hem de musterinin ihtiyaci daha hizli sekilde
karsilanacaktir.

2 - Degisim esnasinda asagidaki noktalara dikkat ed-
ilmelidir :

- Kelepgenin ydni

- Hava giriglerinin yéni

- Tahliye deliklerinin pozisyonu

- Hava giriglerinin dig élgcisi M16X1,5 veya M22X1,5"'
dir

- itme milinin boyu, vb.

Aractan sokilecek arizall fren kérugu ile takilacak
universal tip fren kérugu yukaridaki noktalar
acisindan karsilastiriimalidir. Gerekli degisiklikleri ya-
parken asagidaki talimatlara uyunuz.

Universal tip fren kériigiinin itme mili iizerinde bulu-
nan koruyucu toz kérigunin boyu, ¢alisma
esnasinda hasar gérmemesi i¢in ¢ok fazla
kisaltiimamalidir.Fren kéraginan alin ylzeyi ile catal
delik merkezi arasindaki mesafenin en az 82mm
olmasina dikkat ediniz.

Orijinal digtan nefeslikli fren kériklerinin yerine
universal tip icten nefeslikli fren kérukleri kullanilabilir.

Uygulama
1. Fren korugunu aragtan manuel olarak sékinuz

- Cektirme vidasini "Bosgaltma" yéniine dogru saat
yoninde sonuna kadar gevirin(Sekil 3).

Installation Instructions for Internal Breathing
Brake Chambers

1. Universal Brake Chambers

Automotive manufacturing demands short assembly
times, therefore every vehicle model has its own
Brake Chamber which can be installed without any
need for adaption. To answer the needs of all the ve-
hicle manufacturer supplies about many different
variants of the cam brake type alone.

A universal brake chamber offered simplifies ware-
housing & enables a qualified mechanic to make the
necessary changes to the springbrake. This demon-
strates that keeping stock of Universal Brake Cham-
ber permits most repairs to be completed quickly,
saving the need for holding a large stock of the parts
and also ensuring that customers needs are met
without delay.

2. Replacements need to be correct with regard to
the following points:

- Position of the clamp band - Position of the thread-
ed ports

- Position of the respiration tube

- Position of the drain port

- The teeth of the air ports is M16X1,5 or M22X1,5

- Length of piston rod etc.

Check these points and compare the broken original
with the universal type. To make any adaptations as
necessary, follow the instructions below.

The piston rod of a universal cylinder which has bel-
lows sealing must not be shortened too much this
avoids the bellows being damaged during operation.
Leave a minimum gap of 82 mm between the flange
surface and the centre of the yoke bore hole.
Original equipment cylinders with external tube can
be replaced with IBV models.

Procedure
1. Manually detach the cylinder from the vehicle

- Turn the releasing screw counter clockwise all the
way towards the "Release” mark (see fig. 3).




2. Fren Koérugunun yerinden ¢ikariimasi
- Tum hava hatlarindaki basinci dasurin
- Hava giriglerini ve catali s6kin
- Baglanti somunlarini sékun
- Fren kéraglinu yerinden alin

UYARI : Yaralanma tehlikesi

Fren kértugi yerinden sokulirken
dusurilmemesine 6zen gdsterilmelidir.
3. Universal Fren Kériiguniin Adaptasyonu

4

sekil.4
a= Kelepgenin yonunu ayarlayin
b= Hava giriglerinin yénunu ayarlayin
b= Hava girislerinin dis dlcisuni ayarlayin
d= itme milinin boyunu ayarlayin
e= Tahliye deliklerinin pozisyonunu ayarlayin

(Sekil 4' e bakin)

Fren kérugunun kelepge yoni ve hava girisleri
ayarlanirken st kapagin yerlestirimesinde asagidaki
husus dikkate alinmalidir :

- Kelepgeyi sékmeden 6nce, itme milini 3-5 mm ¢ek-
erek, uygun boyda bir boru, pul ve somun yardimi ile
diyaframi rahatlatin(gekil 5)
itme mili Gizerindeki toz kériginin hasar gérmesini
engelleyin. Kullanilacak boru boyu toz kértginin
boyuna uygun olmalidir.

- Kelepcgeyi sékin.
- Fren kéruginan dst kapagini alin.

Kelepgenin yénuni degistirirken diyaframin tekrar
diizgln yerlestirildiginden emin olun.

- Fren kéragunun ust kapagini yerlestirin.
Diyaframin hem alttan hem ustten diizguin
oturduguna dikkat edilmelidir. Diyaframa gres veya
baska herhangi bir yag surtlmemelidir, diyaframa
kalici hasar verebilir.

- Kelepceyi plastik ¢eki¢ yardimi ile yerine oturtabilirs-
iniz. Kelepgenin oturma boslugu tum gevrede esit
olmalidir.

- Kelepgenin sikma civatasini ilk olarak 25,5 + 2,5
Nm. tork ile sikiniz.

- Sizdirmazlik testinden sonra sikma torku min. 14
Nm olmalidir.

- itme milinin boyunu istenen boyda kesiniz (sekil
6).

2. Removing a Brake Chamber

- Relieve all pressure from the lines (set hand brake).
- Loosen the ports and yoke.

- Remove fastening nuts.

- Remove brake chamber

CAUTION

Danger of injury.

Secure the cylinder to prevent it from rolling and
dropping off the workbench.

3. Adapting a Brake Qhamber

a = Position of clamp band.

b = Position of the the threaded ports

b= Adjust what the teeth of the air ports should be

d = Length of piston rod

e = Position of the drain port

(see fig. 4).

When changing the position of a cylinder cover rela-
tive to the cylinder, the following must be observed:

Fig. 5
Relieve diaphragm, for this purpose withdraw piston
rod approx. 3-5 mm and hold using suitable equip-
ment (e.g. tube, washer and hexagon nut (see fig.
5)).
Avoid damage to bellows. Tube must fit over bel-
lows.
- Remove clamp band.
- Lift cylinder cover.
- When changing position of clamp band opening,
align diaphragm accordingly.
Clamp band opening should again correspond with
the indents on the diaphragm from the original posi-
tion.
- Replace cylinder cover at the correct position.
Diaphragm must not be subjected to distortions.
Do not use substances containing grease or oil on
the diaphragm because this may cause permanent
damage.
- Use a hand-lever press to lightly press the cylinder
cover against the cylinder so that the clamp band can
be mounted in the correct position.To avoid damage
to the cylinder, use suitable equipment. The clamp
band must not be used to press the cover and cylin-
der together.



- Fren korugunin tist kapagini el kumandali bir pres
yardimi ile bastirarak kelepgeyi uygun bir sekilde
sikma pozisyonuna getiriniz. Kelepce ust tas ve alt
tasi birlikte kavramasi icin desteksiz zorlanmamalidir.

- Kelepceyi plastik ¢eki¢ yardimi ile yerine oturtabi-
lirsiniz. Kelepgenin oturma boslugu tum cevrede esit
olmalidir.

- Kelepgenin sikma civatasini ilk olarak 25,5 + 2,5
Nm. tork ile sikiniz.

- Sizdirmazlik testinden sonra sikma torku min. 14
Nm olmalidir.

- itme milinin boyunu istenen boyda kesiniz (sekil
6).

Fren kérind mengene ile sikistirmayin.

Fren kéruginun 90° - 270° arasinda alt kisminda bu-
lunan tahliye delikleri agik olmalidir.

Fren koriklerinin hava girisleri, adaptér yardimi ile
hem M16X1,5 hem de M22X1,5 dis dlglisiine
ayarlanabilir. Adaptér ¢ikarilirsa M22X1,5 dis dlgusu
elde edilir.

4. Fren Koériigliniin Montaji

Araca montaj esnasinda yayli rondela kullanmayin.

- Fren kérugunian dingil Uzerine baglandigi plakanin
yuzeyinin diizglin ve purizsiz oldugundan emin olun.

- Fren kéraguni baglanti plakasina yerlestirin.

- Baglanti somunlarini 190 - 210 Nm torkla sikin.

- Fren gatalini circira baglanti pimi yardimi ile
baglayin.

- Fren kéragunun imdat bolima hava girisini
baglayin.

Fren kéruglnin imdat kismina(12) hava verdikten
sonra baglantilari kontrol edin, servis hava
girisinden(11) hava kagag! olmamalidir.

- Fren kértgunan servis bélimunin hava girigini
baglayn.

- Cektirme vidasini sekilde goruldigu gibi saat
yoénunin tersine sonuna kadar gevirin ve 25-45 Nm
torkla sikin.

5. Fren korigiinin testi

- Fren kérugunun servis ve imdat bélumuine defalar-
ca hava vererek kagak olup olmadigini kontrol edin,
ozellikle baglantilardan ve kelepgeden kagak olup
olmadigini kontrol edin.

- Itme milinin ¢aligirken merkez ekseninden +3° '
den fazla sapmadigindan emin olun.

- [tme milinin boyunu kontrol edin. Circir kolunun
pozisyonu, max strok boyunun yarisinda 90° ise, itme

milinin boyu dogrudur (sekil 7).

- Align the clamp band with the help of a plastic
hammer. Check for smooth placement of the dia-
phragm. Clamp band and cover should have a uni-
form gap width.

- For initial assembly, tighten the hexagon screw with
a tightening torque of M = 25.5 + 2.5 Nm.

- After the leak test, check the tightening torque M >
14 Nm.

- Cut the piston rod to correct length (see fig. 6).

Do not clamp the cylinder in a vice.

In the lower section between 90° - 270° the drain ports
must remain open.

The teeth of the air ports could be adjusted whether
M16X1,5 or M22X1,5 with help of an adaptor. If the
adaptor is removed means that the teeth of the air ports
is M22X1,5.

4. Installing a Brake Chamber

Install according to the Vehicle Manufacturers instruc-
tions. Do not use spring wash washers.

- Check the mounting bracket on the axle for cracks.

- Put on the new Brake Chamber.

- Tighten fastening nuts with a tightening torque of M =
210 -30 Nm.

- Attach yoke to slack adjuster using a bolt and splint.
- Connect line to port 12.

Charge spring brake cylinder (port 12) and check for
tightness, ensure that no air escapes from port 11.

- Connect line to port 11.

- Screw down release screw all the way (towards Reset
mark) and tighten at M = 25 +20 Nm.

5. Testing

- Actuate the Brake Chamber (hand brake and service
brake) several times and check for leaks, especially at
the connectors and the entire circumference of the
clamp band.

- Check deflection of the piston rod, a 3° deflection
relative to the mid axis of the cylinder in every direction
must not be exceeded.

- Check the length of the piston rod. The length of the
piston rod is correct if the slack adjuster is at the 90°
position after half of the max. stroke (fig. 7).



0 ..,___@
"~
0 [y E
{'\
sekil.7

Fren kérugi bosta iken(frenlemede degil) itme mili
tam olarak geri ¢ekilmis olmalidir ve tizerinde her-
hangi bir yik olmamalidir.

Ayni dingil tizerindeki fren korikleri birlikte
degistirilmelidir.

Fren korikleri imdat boluma kullanildikga gucte
azalma olabilir ve bu durum ayni dingil Gzerinde
dengesiz frenlemeye sebebiyet verebilir.

Fig. 7

The piston of the Brake Chamber must be retracted
completely while the brake is not actuated and must not
be preloaded.

Replace all Brake Chambers of the same axle together!
If the cylinders are older, the spring forces of the
spring-loaded portion may weaken, with uneven brake
action as a result.



ORUGU

CLAMP ANGLE

KELEPCE ACISI
AIR ANGLE
HAVA GiRis ACISI L4
AT ﬁ/ Ii i UL Q\ ‘g
= ‘t ﬁ'\ =
0 =S
I l g |
+ s
%_— b | _ Bl EIN o - ==
— - g 95—
( g iy
L] UL LA
AL N

Type / Tip D/P

Operating Pressure Air
Calisma Basinci Hava

Permissible Medium 1 12
Calisma Ortam 10 bar | 8.5 bar I A\/'\ A 1 éﬁ \/\/\/\:

Operating Temperature Range 40°C
Calisma Sicaklig: +80°C

Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

6028.13 ] 7BAR

Kuvvet (N.)
e
]
)
wn
o

000
2650
5.300
4950
10,600
13.250
15,900
18,550
21200
23.850
26.500 4
3 29150
31.800
34.450
37.100 7]
39,750
42.400
45.050
50,350
53.000 -

47.700

Strok (mm.)

FIG. 1



KORUGU 12/4800 / DP

E CHAMBER DIYAFRAM / PISTON

DIAPHRAGM / PISTON

10149,1
STROKE 44,5/44,5
FIG. 1

KANCA KANCA | waBco | waBco [KNORR OEM rusiron | TaACIRIS) L ] Voke

VEILCOI ESKikoD [ALTERNATIVE| EskiKoD A6, | esad | ot

S0 oLD CODE |  CODE | OLD CODE Vida | Uzunlu

L1 L2 L4

BP1248 10401 = AA.10107.32 ISUZU SAG / RIGHT 1 M16X15 185 M16X1,5 o 101491
BP1248 10402  AA.10107.33 ISUZU SOL / LEFT 1 M16X15 185 M16X1,5 o 10149.1
BP1248 10453  AA.10107.30 ISUZU SAG / RIGHT 1 M16X1,5 36 M16X1,5 S 10149.1
BP1248 10454  AA.10107.31 ISUZU SOL / LEFT 1 M16X15 36 M16X1,5 o 101491



ORUGU

CLAMP ANGLE
KELEPCE ACISI
AIR ANGLE
HAVA GiRis ACISI L4
T ﬁ/ Ii ‘1 UL Q\ g
NG AW =
0 =S
I l g |
4 s
‘%__ il | _ _ 5 - ol = | N
—— —HE[ U g 95—
N | @ L }
Al N

Type /Tip D/P

Operating Pressure Air
Calisma Basinci Hava

Permissible Medium 11 12
Calisma Ortam 10 bar | 8.5 bar vy %[I \/\/\/\:
Operating Temperature Range 40°C V
Calisma Sicaklig +80°C

Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

13024.00
12210.00
11396.007]
10582.00
9768.00-
8954.00] 7.2 BAR
814000~

7326.00 | T~—r___ ~.
6512.00

5698.00]
4884.007
4070.00]
3256.00-
2442.00]
1628.00]
814.00]
0.00+——

g

6,5 BAR

Kuwvvet (N.)

Uk

3.350

6.700
10.050
13,400 7
23450
26.800
30.150
33.500
36.850
40,200
43,550
46.900 7]
50.250
53.600
56.950
60.300
63.650
67.000 -

Strok (mm.)

FIG. 1



E CHAMBER . .
DIYAFRAM / PISTON

DIAPHRAGM / PISTON

STROKE 57/57

FIG. 1
KANCA KANCA | wABCO | WABCO |KNORR OEM rusiron | TaACIRIS) L ] Voke
VENLCHI ESKiKoD [ALTERNATIVE| ESKiKOD A6, | esad | ot
VL3 oo copE | CODE | OLD CODE Viia | Uzunuk
L1 L2 L4
BP1616 10403  AA.10502.M = 925 494 0000 MAZ 1 M16X1,5 33 M16X1,5 - -
BP1616 10404 925494 1070 0114202218 MB 1 M16X1,5 205 M16X1,5 Vv -

A0114202218 MB
072202000 NEOPLAN
11062533 NEOPLAN
23656 MACK



ORUGU

CLAMP ANGLE

KELEPCE ACISI
:fv':Ngi;Eis ACISI L4
- SR o I 3
e s i k\ s
ﬂ il = :
g My S
%:::@a —— e e—t
ISE]
- all U -

Type / Tip D/P

Operating Pressure Air
Calisma Basinci Hava

Permissible Medium 1 12
Calisma Ortam 10 bar | 8.5 bar I A\/'\ A 1 éﬁ \/\/\/\:

Operating Temperature Range 40°C
Calisma Sicaklig: +80°C

Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

14857.00
13928.44
12999.88 ]
12071.31 ]
1114275
10214.197
9285.63 ]
8357.06
7428.50~
5499.94-\
5571.38] <<
4642.81 |
3714.25- 6,5 BAR
2785.69
1857.13 ]
928.56
0.00

Kuwvet (N.)

17.000
20.400
23.800
27.200
30,600
34.000 ~
51,000 ~
54.400
57,800
61.200
64.600
68.000 -

g

3.400

6.800
10.200
13.600
37,400
40,800
44,200
47,600

Strok

mm.)

FIG. 1



KORUGU 14/24 m
E CHAMBER

DIYAFRAM / PISTON
DIAPHRAGM / PISTON

10146
STROKE 57/57
FIG. 1
WS kancA | waBcO | WABCO | KNORR OEM rusiron | TaACIRIS) L ] Voke
VLI Eskikop [ALTERNATIVE| Eski koD F6. | hrone | Lorgth
IS oLb cobE | CODE | OLD CODE Vida | Uzunivk
L1 L2 L4
BP1424 10405 925 498 1050 1523961R DAF 1 M16X1,5 255 M22X1,5 N4 -
925 498 1057 ADAPTOR
M16X1,5
BP1424 10406 925 428 1070 0164208218 MB 1 Q16 270 M22X1,5 | 10146
A0164208218 MB



ORUGU
CHAMBER

CLAMP ANGLE
KELEPCE ACISI

AIR ANGLE
HAVA GiRi§ ACISI

Type /Tip D/P

Operating Pressure Air
Calisma Basinci Hava

Permissible Medium 11 12
Calisma Ortam 10 bar | 8.5 bar

Operating Temperature Range 40°C
Calisma Sicaklig: +80°C

Control Pressure 1 12
Kontrol Basinci 13 bar | 10 bar

Permissible Leakage

3,
Miisade Edilen Kagak 10 om'/ min

13761.00+
12900.94
12040.88 7]

8600.63 7]
7740.56 |
6880.50 -]

11180.81
10320.75+ \
9460.691

Kuwvet (N.)

6,5 BAR

g &
s 3

000
3.400
6.800
10.200
13.600 7
17.000 <
20,400
23.800
27.200
601

37.400

g &
“F-

Strok (mm.)

FIG. 1

47.600 7]

51.000

54.400

800
61.200

64.600
68.000 -

L4
o T 3
T L R =
ﬂ il =&
] 18 J T
0 }:5@
- '@&ﬁ;{j’ L2

oL



KANCA
YENi KOD
NEW CODE

BP1624 10407

BP1624 10408

BP1624 10409

BP1624 10410

BP1624 10411

KORUGU
E CHAMBER

DIYAFRAM / PISTON

DIAPHRAGM / PISTON

14

10140.0

10145
STROKE 57/57
FIG. 1
KANCA | waBco | waBco [KNORR OEM e |[TAAERS | L G
" h AIR PORT | GAITER| YOKE
ESKI KOD |ALTERNATIVE| ESKiKOD A6 | iveng | Longth
OLDCODE | CODE | OLD CODE Vida | Uzunlu
L1 L2 L4
AA10111 1 M16X1,5 156 = M22X15 Vv 10140.0
ADAPTOR
M16X1,5
AA10111.7 925 494 0410 1518151  DAF 1 |M16X1,5 250 =~ M22X15 4 -
AA10111.13 925494 9600 1802696  SCANIA ADAPTOR
AA.10111.20 1331410  SCANIA M16X1,5
AA10111.22 1117755  SCANIA
65027970 KOGEL
10003354 LIEBHERR
925 494 7550 1 M16X1,5 250  M22X15 - -
ADAPTOR
M16X1,5
925494 9100 0194208718 MB 1 Q16 37 | M22X1,5 - 10145
925494 9110 0194208818 MB 1 Q16 37 M22X1,5 - 10145




ORUGU
CHAMBER

CLAMP ANGLE
KELEPCE ACISI

AIR ANGLE
HAVA GiRi§ ACISI

Type /Tip D/P

Operating Pressure
Calisma Basina1

Air
Hava

Permissible Medium
Caligma Ortam

11 12
10 bar | 8.5 bar

Operating Temperature Range
Calisma Sicaklig:

-40°C
+80°C

Control Pressure
Kontrol Basinci

11
13 bar

_12
10 bar

Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

13007.00
12194.067
11381.13 ]

8942317

10558.19_¥
9755,25-¥

8129.38 ]
7316.44
6503.50 -
5690.56 1
4877637
406469
3251.75-
2438.81
1625.88 ]
812.94
0.00 +———

Kuwvet (N.)

3
6.700
10.050
13.400

16.750
20.100

50.250

53.600
56.950
60.300
63.650
67.000 -

L4
- T 3
't k\ s
q il =
L ISE]
- e

oL



KANCA

YENi KOD

NEW CODE

BP2024 10412

N KORUGU
KE CHAMBER

STROKE 57/57

DIYAFRAM / PISTON

DIAPHRAGM / PISTON

FIG. 1
AFT IRIS| T. LAS. ATAL
KANCA | waBco | waBco |[NORR OEM rusiron | TAGRIS L ] Yoke
ESKiKOD [ALTERNATIVE| ESKiKkOD A6, | esad | ot
OLDCODE | CODE | oLD CODE Via | Uzunivk
L1 L2 L4
AA10115.28 = 9254907550 = 9254207020 = BX9401 81504106559 MAN 81504106561 MAN | 1 M16X1,5 250 M22X1,5 - -
AA10115.29 | 9254907557 = 9254207010 | BZ7443 = 81504106560 MAN 81504106605 MAN ADAPTOR
AA.10115.30 9254207017 = BZ9406 81504106073 MAN 81504106606 MAN M16X1,5
AA.10115.31 9254207040 1137275 81504106074 MAN 81504106607 MAN
AA.10115.32 9254207500 =~ BZ9414 81504106307 MAN 81504106615 MAN
AA.10115.33 9254207507 = BZ9415 81504106308 MAN 81504106616 MAN
AA.10115.34 9254207510 = BZ9416 81504106309 MAN 81504106617 MAN
AA.10115.7 9254207520 = 1116852 81504106310 MAN 81504106683 MAN
9254207530 1119261 81504106312 MAN 81504106468 MAN
9254907557 1119262 81504106427 MAN 81504106467 MAN
9254207540 = 1119263 81504106439 MAN 81504109351 MAN
9253207010 = BZ7453 81504106453 MAN 81504106703 MAN
9253207020 = BZ7460 81504109514 MAN 81504106704 MAN
BX9400 = 81504106348 MAN 81504109513 MAN
BZ9407 81504106350 MAN 81504109559 MAN
BZ9409 = 81504106351 MAN 81504109560 MAN
1117090 81504106352 MAN 81504106467 MAN
1117091 81504106353 MAN 81504106468 MAN
81504106354 MAN 1506383 DAF
81504106512 MAN 1519150 DAF
81504106513 MAN




ORUGU
CHAMBER

CLAMP ANGLE
KELEPCE ACISI

Kuwvet (N.)

13007.00
12194.06 7

9755.25+

AIR ANGLE
HAVA GiRi§ ACISI

£

al

)

SRING LOADED.

M16x1,5

oL

Type /Tip D/P

Operating Pressure Air
Caligma Basma Hava
Permissible Medium 11 12
Calisma Ortam 10 bar | 8.5 bar
Operating Temperature Range 40°C
Calisma Sicaklig +80°C
Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage -
Miisade Edilen Kagak 10 om'/ min

11381,13:\
10563,19_\_“/—R

6,8 BAR
3942,31-©/

8129.38] —

7316.44 N —-

6503.50 6 BAR ™~

5690.56]

4877.637]

4064.69 ]

3251.75-

2438.81]

1625.88 ]

812,94

[ U S —
58§32 88585882858888¢8°¢8
cemsddeddRsnseYEsUEggE
Strok (mm.)

FIG. 1

Kuvvet (N.)

®E
—
N

WARNING

¢

uy:

L2

12853.00
12049.69
11246.38
10443.06_
9639.75
8836.44 ]
8033.13]
7229.81
6426.50
5623.19
4819.88 ]
4016.56 |
3213.25
2409.94
1606.63 7
803.31

0.00

1

£33

~

15.400

19.250 o

23.100

2288
£ 8 3%
Strok (mm.)

Z8ES3
d¢83

1,500 |

FIG. 2



KE CHAMBER . .
DIYAFRAM / PISTON

DIAPHRAGM / PISTON

101441

STROKE 57/57 STROKE 65/65
FIG. 1 FIG. 2
KANCA KANCA | waBco | waBco [KNORR OEM rusiron | TaACIRIS) L ] Voke
VL ESKiKOD [ALTERNATIVE| EsKi koD A6 | iveng | Longth
AT OLD CODE |  CODE | OLD CODE Vida | Uzunluk
L1 L2 L4
BP2024 10414  AA10115 9254909250 = 9253001150 | BX9400 0074206918 MB 1519443 DAF 1 M16X1,5 250 M22X1,5 N -
AA.10115.14 | 9254909257 = 925320 1380 | BZ7422 = 0084206118 MB 02486891 IVECO ADAPTOR
AA.10115.17 925320 1460 = BZ7436 0104200218 MB 02486891 IVECO M16X1,5
AA.10115.18 925320 1470 = BZ9408 0114201918 MB 1935470  SCANIA
AA.10115.2 925320 1810 1137274 0124207118 MB 5021170332 RENAULT
AA.10115.3 9253202500 | 1137274ES = 0124208518 MB 5000716329 RENAULT
AA.10115.36 925 420 0040 0174200218 MB 5021170331 RENAULT
AA.10115.37 9254200120 0174203918 MB 571364008 LIEBHERR
AA.10115.38 890 110 3480 0194207618 MB
AA.10115.41 925 420 0200 A0104200218 MB
AA.10115.5 925320 1730 A0124207118 MB
AA.10115.6 925320 1737 A0194207618 MB
925420 1000 A0084206118 MB
925420 1010 A0174203918 MB
925420 1030 A0194207518 MB
925420 1040 0194207518 MB
925 420 9540 0124208518 MB
925450 0010 0194207618 MB
925490 1030 A0114206918 MB
925490 1040 A0124208518 MB
925 490 9250 A0174200218 MB
A0074206918 MB
8285454000 EVOBUS
81504106707 MAN
81504106466 MAN
1506797R  DAF
1519185 DAF
BP2024 10415 925 430 0360 1505114R DAF 2 M16X1,5 38 M16X1,5 = 10144.1
925 430 0367 1313829 SCANIA
925 430 0060 1446037  SCANIA

1057083  SCANIA
10570776 SCANIA
1570823  SCANIA
5711776  SCANIA
1935410  SCANIA
571776 SCANIA
1571776 SCANIA



ORUGU

CLAMP ANGLE
KELEPCE ACIS|
AIR ANGLE
HAVA GiRis ACISI L4
_ T
INE 0 -
0 = EE
{ g har
n ©
- —H' _ _ 5 _ — | N
%_“*j& Uie ° -
. s b I”%
il s

Type / Tip D/P

Operating Pressure Air
Calisma Basinci Hava

Permissible Medium 1 12
Calisma Ortam 10 bar | 8.5 bar I A\/'\ A 1 éﬁ \/\/\/\:

Operating Temperature Range 40°C
Calisma Sicaklig: +80°C

Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

12435.00
11657.817

10830'63'\ 6,5 BAR
10103.44 54
9326.25-

8549.061 T
7771.88 ]

Kuwvet (N.)
=]
By
=1
3
1

000
3.350
6.700

10.050
13.400
16.750 o
20.100
23,450

.800

150

33.500 o
36.850
40.200
43.550
46.900
50.250 o
53.600
56.950
60.300
63,650
67.000 -

Strok (mm.)

FIG. 1



KANCA
YENi KOD

NEW CODE

BP2424 10416

N KORUGU
KE CHAMBER

DIYAFRAM / PISTON
DIAPHRAGM / PISTON

STROKE 57/57

FIG. 1
KANCA | waBco | waBco |KNORR OEM Ty | Frae) e (G
ESKiKOD [ALTERNATIVE| ESKiKOD F6. | vead | Lot
OLD CODE CODE OLD CODE Vida | Uzunluk
L1 L2 L4
AA10112.0 | 9254911410 | 9253011060 BX9519 A0174200318 MB 867215  DAF 1 M16X1,5 250 M22X1,5 Vv -
AA10112.1 9254911417 = 925321 1100 BX9551 A0174203818 MB 1199429 DAF ADAPTOR
AA10112.11 9253211110 BZ7536 A0194207718 MB 1264634 DAF M16X1,5
AA10112.12 925 321 1330 BZ7531 0084202318 MB 1506384 DAF
AA10112.15 925 321 1360 BZ7539 0084206018 MB 1519113 DAF
AA10112.2 925 321 1380 BZ7555 0104202718 MB 1522228 DAF
AA10112.24 925 321 1470 137217 0104202818 MB 1525504 DAF
AA10112.25 925 321 1550 BX9502 0124201418 MB 4778653 IVECO
AA10112.26 925 321 1590 BZ7540 0124207318 MB 99458093 IVECO
AA10112.27 925 321 1600 K2B0506 0154201018 MB 99458094 IVECO
AA.10112.28 9253211607 = K2B0S06XU = 0174200318 MB 04778653 IVECO
AA10112.29 9253211690  K2B0506XUIUS = 0174203818 MB 1935399 SCANIA
AA10112.32 9253211730 04825124001000 0194207718 MB 1935471 SCANIA
AA.10112.36 9253211780 0482512401090 0194207818 MB 5021170336 RENAULT
AA10112.39 925 421 3447 BX9400 A0194207818 MB 6500690 KOGEL
AA.10112.45 925 421 3460 A0084202318 MB 157894 GOLDHOFER
AA.10112.46 925421 3470 A0084206018 MB 190615 VDL BUS /BOVA
AA10112.47 9254510010 A0124201418 MB 190576 VDL BUS / BOVA
AA.10112.57 925491 1050 A0124207318 MB HOWO
AA10112.12 925 441 3420 8285337000 EVOBUS
AA10112.58 925 321 2800 8285313000 EVOBUS
AA10112.8 925 321 2850 82851110000 EVOBUS
AA10112.44 925 321 2857 82839880000 EVOBUS

925 321 2880
925 3212920
925 321 2950
925 321 2957
925 321 3410
925 321 3430
9254211000
9254211030
9254211040
9254211050
9254211060
9254213410
925421 3420
925 421 3440
9254911060

8285111000 EVOBUS
82839390000 EVOBUS
82855580000 EVOBUS/SETRA
82855480000 EVOBUS/SETRA
Q82839380000 EVOBUS / SETRA
Q82839390000 EVOBUS / SETRA
Q82855480000 EVOBUS / SETRA
Q82855580000 EVOBUS / SETRA
82839380000 EVOBUS/SETRA
8150410 6697 MAN
85504106002 MAN

81504106697 MAN
85504106002 MAN
070214800  NEOPLAN
1518145 DAF
1199428 DAF
867215 DAF
1506655R DAF



ORUGU

CLAMP ANGLE
KELEPCE ACIS|
AIR ANGLE
HAVA GiRis ACISI L4
- =TT
INE R z
0 = EE
{ g har
n ©
— - ) i} i = i
%———tﬂ& e ° H
T ol | F’J/
=L "

Type /Tip D/P

Operating Pressure Air
Calisma Basinci Hava

Permissible Medium 11 12
Calisma Ortam 10 bar | 8.5 bar vy %[I \/\/\/\:
Operating Temperature Range 40°C V
Calisma Sicaklig +80°C

Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

12435.00
11657.817

10830-63_\ 6,5 BAR
10103.44 ] i
9326.25

8549.061 Ty
7771.88 ]

Kuwvet (N.)
=]
By
=1
3
1

000
3.350
6.700

10.050
13.400
16.750 o
20.100
23,450

.800

150

33.500 o
36.850
40.200
43.550
46.900
50.250 o
53.600
56.950
60.300
63,650
67.000 -

Strok (mm.)

FIG. 1



KORUGU
KE CHAMBER

DIYAFRAM / PISTON

DIAPHRAGM / PISTON

10140.0

10141.1
STROKE 57/57
FIG. 1
KANCA KANCA | waBco | waBco [KNORR OEM e |[TAAERS | L G
. " , AIR PORT | GAITER| YOKE
YENi KOD ESKi KOD |ALTERNATIVE| ESKIi KOD FIG. | Thread | Length
[3'Aeleb]S88 OLD CODE CODE OLD CODE \/|1<1ia Uztligluk .
BP2424 10417 = AA.10112.41 9253217010 | BX9401 | 8285375000 EVOBUS 81504106608 MAN | 1 |M16X15 250 & M22X1,5 = -
AA1011242 | 9254917550 = 9253217040 BX9410 | 82853750000 EVOBUS 81504106609 MAN ADAPTOR
AA10112.43 9254217010 BX9502 = 81504109476 MAN 81504106610 MAN M16X1,5
AA.10112.59 9254217017 = BX9519 81504106345 MAN 81504106618 MAN
9254217050  BZ9503 81504106346 MAN 81504106619 MAN
9254217150  BZ9504 81504106347 MAN 81504106620 MAN
9254217500 BZ9512 81504106443 MAN 81504106684 MAN
9254217507 BZ9513 81504106455 MAN 81504109519 MAN
9254217510 BZ9514 81504106476 MAN 1523549 DAF
9254217520 BZ9529 81504106481 MAN 1519158 DAF
1117092 81504106519 MAN
1117093 81504109552 MAN
1117094 81504106532 MAN
1119264 81504106533 MAN
1119265 81504106540 MAN
1119266 81504106551 MAN
BX9551 81504106552 MAN
BZ9561 81504109540 MAN
482512403000 = 81504109551 MAN
BP2424 10418 = AA.10112 9253211620 BX9519 | 505803369 KRONE 1 MI16X15 187 | M16X15 - =
5803369 KRONE
155370  GOLDHOFER
BP2424 10419 | AA.10112.20 1 M16X1,5 169 | M22X15 | /' 10141.1
BP2424 10420 | AA.10112.3 1 | MI16X15 340 | M22X1,5 | </ | 10140.0
ADAPTOR
M16X1,5




ORUGU
CHAMBER

CLAMP ANGLE

Type / Tip D/P

Operating Pressure Air
Calisma Basinci Hava

Permissible Medium 1 12
Calisma Ortam 10 bar | 8.5 bar I A\/'\ A 1 éﬁ \/\/\/\:

Operating Temperature Range 40°C
Calisma Sicaklig: +80°C

Control Pressure 1 12
Kontrol Basinci 13 bar | 10 bar

Permissible Leakage

3,
Miisade Edilen Kagak 10 cm/ min

13881.00+
13013.44 7
1214588
1127831

10410.75
9543'19_&
8675.63 ]

Kuwvet (N.)
R
HES
i
(=]
£
]

000
250
7.700
11.550
15.400
19.250 4
23.100
38.500
42.350
46.200
50.050
53.900
57.750
73.150
77.000 -

26.950
30.800
34.650
61.600
65.450
69.300

Strok

mm.)

FIG. 2

KELEPCE ACIS!
AIR ANGLE
HAVA GiRis ACISI L4
[(mm =
_ (@ x
@l T 3
AT 11{' _j_/_ QT k\ s
0 B
{ l g =
-\ s
%———t}ﬁ ail: ° =
R— ‘@lmuj }
LJ’ L2




N KORUGU

KE CHAMBER

DIYAFRAM / PISTON
DIAPHRAGM / PISTON

10144.1
STROKE 65/65
FIG. 2
KANCA KANCA | waBco | waBco [KNORR e |[TAAERS | L G
" " , AIR PORT | GAITER| YOKE
VLRI ESKiKOD [ALTERNATIVE| ESKiKOD A6 | iveng | Longth
L oLD CODE | CODE | OLD CODE vea. |vmnkf
BP2424 10422 AA10112.40 = 9254310950 K2B1029 | 1505463R DAF 8112624 VOLVO = 2 |M16X1,5 247 = M16X15 - -
925431 0957 K2B1030 = 1606835 VOLVO 8112625 VOLVO
K2B1031 1606836 VOLVO 8113112 VOLVO
K2B1032 1606887 VOLVO 8113540 VOLVO
K2B0528 = 1609803 VOLVO 8113541 VOLVO
K2B0528XU 1626182 VOLVO 8113558 VOLVO
K2B0528XUA 1626183 VOLVO 8154233 VOLVO
1626184 VOLVO 8154234 VOLVO
1626185 VOLVO 85000582 VOLVO
1626445 VOLVO 1935413 SCANIA
1626446 VOLVO 4124164 MGM
1629514 VOLVO 4124169 MGM
1629515 VOLVO 4124170 MGM
3963094 VOLVO 4124053 MGM
3963095 VOLVO 4124054 MGM
5003225 VOLVO 4124163 MGM
5003226 VOLVO
5003484 VOLVO
5003485 VOLVO
BP2424 10423 | AA 1011249 | 9254310410 1731941 SCANIA 1446046 SCANIA | 2 |M16X15 228 | MI6X15 | — 101441
BP2424 10424 AA.10112.52 = 9254310370 1446044 SCANIA 1375936 SCANIA = 2 |M16X1,5 183 = M16X1,5 - 101441
BP2424 10425 AA.10112.54 = 9254310330 BX9519 1505115R DAF 10570834 SCANIA 2 | M16X15 38 M16X1,5 = 101441
925431 0337 1137277 1570834 SCANIA 1313821 SCANIA
K2B0506X50 1571778 SCANIA 1446042 SCANIA
570834 SCANIA 10571778 SCANIA
571778 SCANIA



KORUGU
E CHAMBER

CLAMP ANGLE
KELEPGE AGIS!

AIR ANGLE
HAVA GIRIS ACISI

Type /Tip D/P

Operating Pressure Air
Caligma Basma Hava

Permissible Medium 11 12

Calisma Ortam 10 bar | 8.5 bar

Operating Temperature Range 40°C
Calisma Sicaklig: +80°C

Control Pressure 1 12
Kontrol Basinci 13 bar | 10 bar

Permissible Leakage

3,
Miisade Edilen Kagak 10 om'/ min

13860.00+
12993.757

12127.50 ]
11261.25_\

10395.00+

Kuvvet (N.)

6063.757
5197.50 ]
4331.25-
3465.00~
2598.757
1732.50]
866.25
0.00 T

6,5 BAR

\ P

9528.751

8662.50 ] \
7796.25 ] ]
6930.00

000
3.850
7.700

11.550
15.400
19.250 -
23.100
26.950

30.800

42.350

46.200

Strok (mm.)

FIG. 1

900
57.750 -
61.600
65.450
73.150
77.000 -

69.300



KORUGU
E CHAMBER

DIYAFRAM / PISTON

DIAPHRAGM / PISTON

10140.0
STROKE 65/65
FIG. 1
KANCA KANCA | waBco | waBco [KNORR OEM e |[TAAERS | L G
" " , AIR PORT | GAITER| YOKE
VLRI ESKiKOD [ALTERNATIVE| ESKiKOD A6 | iveng | Longth
L oLD CODE | CODE | OLD CODE Vida | Uzunlu
L1 L2 L4
BP2724 10426  AA.10120 | 925439 1100 20466200 VOLVO 1 | M16X1,5 220  M16X1,5 - -
85009002 VOLVO
20533210 VOLVO
BP2724 10427 AA.10120.5 1 M16X1,5 185 = M16X1,5 Vv 10140.0
BP2724 10428 AA.10120.3 | 9254990000 = 925329 1200 | BZ 9559 N2504019109 MAN 1 M16X1,5 250 = M16X1,5 Vv -
AA.10120.7 925499 0007 | 925459 1000 BZ 9570 1506761 DAF
AA.10120.8 925429 1070 1298303 DAF
AA.10120.11 925429 1130 1505468R DAF
AA.10120.12 925429 1030 1270258R DAF
925 429 1040 1459619 DAF
925 429 1800 1459618 DAF
1459619R DAF
1459619A DAF
1270257 DAF
1270256 DAF
1270258 DAF
1935477 SCANIA
5010260182  RENAULT
1506761R RENAULT
5021170344  RENAULT
5010260181  RENAULT




E CHAMBER

CLAMP ANGLE
KELEPGE AGIS!

AIR ANGLE
HAVA GIRIS AGISI i

2

M.?

Type /Tip D/P

Operating Pressure Air
Caligma Basma Hava
Permissible Medium 11 12 ) 121t
Galigma Ortam 70 bar | 85 bar : A\/A\ & \/\/\/\:
Operating Temperature Range 40°C !
Calisma Sicaklig +80°C
Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage 10 crri/ mi
Miisade Edilen Kagak cm/min
16088.00+
15082.50 7
14077.00]

130?1.50_\ 6,5 BAR
12066.00 - /
11060.50

10055.00 ] \
9049.50

8044.004
7038.50
6033.00 ]
5027.50
4022.00-
3016.50
2011.007]
1005.50

0.00

Kuvvet (N.)

0.000
3.850
7.700
11.550
15.400 7
19.250
23.100
26.950
30.800
34.850
38.500
3 42350
46.200
53.900 7]
57.750 ~
61.600
65.450
69.300
73.150
77.000 -

50.050

Strok (m

)

FIG. 1



KANCA
YENi KOD

NEW CODE

BP3024 10429

BP3024 10430

BP3024 10431

BP3024 10432

KORUGU
E CHAMBER

DIYAFRAM / PISTON
DIAPHRAGM / PISTON

10140.0

10144.1
STROKE 65/65
FIG. 1
KANCA | wasco | waeco |kNORR OEM e |[TAAERS | L G
" h AIR PORT | GAITER| YOKE
ESKiKOD |ALTERNATIVE| ESKiKOD A6 | iveng | Longth
OLDCODE | CODE | OLD CODE Vida | Uzunluk
L1 L2 L4
AA.10109.19 | 9254921000 9253227030 BZ9600 81504106449 MAN 81504106465 MAN = 1 = M16X1,5 250 M16X1,5 Vv -
AA.10109.20 = 9254921007 9253227130 BZ9614 @ 81504106441 MAN 81504106522 MAN
BZ9601 = 81504106464 MAN 81504106521 MAN
81504106448 MAN 1935473 SCANIA
81504106440 MAN
AA.10109.1 9254921010 = 9253220150 = K2B0520 ' 0879088R DAF 1 M16X1,5 250 M16X1,5 Vv =
AA.10109.3 9254921017 = 925322 6130 | K2B0520XU | ESBCU2599 VOLVO
AA.10109.5 925 322 6410 1935474 SCANIA
AA.10109.12 925 322 0180 25141128 RENAULT
AA.10109.13 925 322 6030
890 110 3520
AA.10109 1 M16X1,5 200 M16X1,5 - 10140.0
AA.10109.21 = 925432 0220 K2B0520X50 1446056 SCANIA 1 M16X15 38 M16X1,5 = 10144 1

1367493 SCANIA

KAMAZ 46460-6X4 TRACTOR
KAMAZ 6520 - 6X4 TIPPER
KAMAZ CHASIS 5297 - 4X2 BUS



KORUGU 20/30 m

E CHAMBER

CLAMP ANGLE
KELEPGE AGIS!

AIR ANGLE
HAVA GIRIS ACISI

Type /Tip D/P

Operating Pressure Air
Caligma Basma Hava

Permissible Medium 11 12
Calisma Ortam 10 bar | 8.5 bar vy %[I \/\/\/\:
Operating Temperature Range 40°C V
Calisma Sicaklig +80°C

Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

14818.00-
13891.887
12965.75 ]
12039.63
1111350~
10187.38
9261.25]
8335.13 6,5 BAR
7409.00- o
6482.887
5556.75 ]
4630.63
3704.50-
277838
1852.25]
926.13 ]
0.00

Kuwvet (N.)

3.850
7.700
11550 |
15.400
19,250
23.100

g

50.050 |
53.900 7
57.750
61,600 |
65.450

69,300 g
73.150

77.000 -

26950
30.800
650
38.500
350
46.200



KANCA

YENi KOD

NEW CODE

BP2030 10433

BP2030 10434

KORUGU
E CHAMBER

DIYAFRAM / PISTON

DIAPHRAGM / PISTON

STROKE 65/65

FIG. 1
KANCA | waBco | waBco [KNORR OEM rusiron | TaACIRIS) L ] Voke
ESKI KOD |ALTERNATIVE| ESKiKOD A6 | iveng | Longth
OLD CODE | CODE | OLD CODE Vida | Uzunluk
L1 L2 L4
9254901010 = 9253205010 = BZ7414 0084209618 MB 81504106636 MAN 1 |M16X1,5 245  M16X1,5 N4 =
9254901017 | 9253205040 | BZ9406 = 0094200018 MB 81504106637 MAN
9253205140 = BX9401 0094200118 MB 81504106567 MAN
9253205250 = BZ9440 0094202118 MB 81504106652 MAN
9253205260 = BZ9445 0124205118 MB 81504106653 MAN
9254205000 = BZ9446 0134203918 MB 1521970R DAF
9254205050 = BX9429 0144202318 MB 1521970 DAF
9254205260 = BZ9443 = 0134203718 MB  1505179R  DAF
9254205310 = BZ7452 0144202218 MB 1506393R DAF
925 420 5330 1131789 A0124205018 MB 1519186 DAF
9254205390 = 1132738 A0134203918 MB 1935468  SCANIA
925450 0020 = 1137275 A0144202318 MB 5021170333 RENAULT
890 110 3490 1137276 A0074205518 EVOBUS 5021170334 RENAULT
A0124205118 EVOBUS
A0134203718 EVOBUS
A01242050180080 EVOBUS
81504106651 MB
A0124205018 MB
0134203718 MB
81504106635 MAN
AA.10118 925490 1210 | 9254500040 = BZ7419 = 0094207318 MB 1 |M16X1,5 245  M16X1,5 = =
9254901217 = 9253205050 = BX9429 = 0094207418  MB
9253205070 = BX9402 = 094209918 MB
9253205150 = BZ9443 = 0104200018  MB
9253205170 = BZ7452 = A0094207318 MB
BZ7414 = A01420018 MB
BZ7418 = A0094207418 MB
A0094209918 MB
A0104200018 EVOBUS
1505499R DAF
1518156 DAF
1505117R DAF
1505499R DAF
1505499 DAF




ORUGU

CLAMP ANGLE
KELEPCE ACISI

CHAMBER

AIR ANGLE
HAVA GiRi§ ACISI

L4
P o i | Q ;
. s T+ :
(] = R =
a @ 8 _5@ |
L S
::ﬁﬁ — BT a3
0 i=E]
L | wa
@LVF_J{J—_ L2

Type /Tip D/P

Operating Pressure
Calisma Basina1

Air
Hava

Permissible Medium
Caligma Ortam

11 12
10 bar | 8.5 bar

Calisma Sicaklig:

Operating Temperature Range

-40°C
+80°C

Control Pressure
Kontrol Basinci

11
13 bar

12
10 bar

Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

15628.00
14651.257
13674.50 ]
12697.75
11721.004
10744.257

7814.004
6837.257
5860.50 ]
4883.75
3907.00-
2930.257
1953.50]

976.75]

Kuvvet (N.)

9767.50]
879075] S~

0.00
T

=

7.700
11.550

15,400

19.250 <
23.100

57.750 o

61,600
65.450
69.300

73.150

77.000 -




N KORUGU
KE CHAMBER

STROKE 65/65

DIYAFRAM / PISTON
DIAPHRAGM / PISTON

FIG. 1
KANCA KANCA | waBco | waBco [KNORR OEM e |[TAAERS | L G
" " , AIR PORT | GAITER| YOKE
VLRI ESKiKOD [ALTERNATIVE| ESKiKOD A6 | iveng | Longth
L oLD CODE | CODE | OLD CODE vea. |vmnkf
BP2430 10435 AA10108.18 = 9254911430 9254214520 = BX9507 0084209818 MB 1270270R DAF 1 M16X15 250 = M22X15 Vv -
AA10108.19 = 9254911437 = 9254214530  BX9521 0114207418 MB 1270270  DAF ADAPTOR
AA.10108.22 9254214300  BX9553 0134204018 MB 1270270A DAF M16X1,5
AA.10108.23 9254214310  BX9508 | 0174204018 MB 1459614R  DAF
AA.10108.27 890 1103510 = K2B0514 0194208018 MB 1519444  DAF
9253214020 | K2B1034 | A0134204218 MB 0525480  DAF
9253214250 | K2B1036 | A0194208018 MB 0525480R DAF
9801103510 | BZ7589 | A0114207418 MB 0525480A DAF
9254215000 | K2B0014 | A0174202718 MB 1459614A DAF
9254215007  K2B0514XU 0134204218 MB 1459614 DAF
9254214330  KZ1302/1RM = A0174204018 MB 1270271 DAF
9253214110 | K2B0514XUS| 0084209918 MB 1608734 VOLVO
9254214430 | K2B0514XUXUS = A0084209818 MB 1608733 VOLVO
9253214120 | K2B0014XUXUS = 81504106628 MAN 5009229 VOLVO
81504106629 MAN 1626189 VOLVO
81504106631 MAN 1626188 SCANIA
81504106632 MAN 1935472 SCANIA
81504106633 MAN 0383890 SCANIA
81504106634 MAN 5021170337 RENAULT
070217100 NEOPLAN 5001829790 RENAULT
70217100 NEOPLAN 505821722 KRONE
070217000 NEOPLAN 505805785 KRONE
70217000 NEOPLAN
1459614R DAF
BP2430 10436 | AA101087 | 9254315140 K2B1034 | 1505464R DAF 5003229 VOLVO | 1 | M16X1,5 247 | M16X15 | - E
925 431 5147 K2B1035 = 1608732 VOLVO 5003230 VOLVO
K2B1036 | 1608733 VOLVO 8112621 VOLVO
1608734 VOLVO 8112622 VOLVO
1626187 VOLVO 8112623 VOLVO
1626188 VOLVO 1935415 SCANIA
1626189 VOLVO 1626188 SCANIA
1629512 VOLVO 4128152 MGM
1629513 VOLVO 4128155 MGM

5003228 VOLVO

4128156 MGM



CHAMBER

CLAMP ANGLE
KELEPCE ACISI

AIR ANGLE
HAVA GiRis ACISI L4

g

M16%1,5

"

T
7
o

H
[
[
o)
|
|
=)
WARNING | SRING LOADED
|
[0]
|
T
T

Type /Tip D/P

Operating Pressure Air
Calisma Basinci Hava

Permissible Medium 11 12
Calisma Ortam 10 bar | 8.5 bar vy %[I \/\/\/\:
Operating Temperature Range 40°C V
Calisma Sicaklig +80°C

Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

15628.00
14651.257
13674.50 ]
12697.75
11721.004
10744.257

9767.50]

8790.75 k
7814.004

6837.25 S\BA R
5860.50 ]

4883.75
3907.00
2930.25]
1953.50 ]

976.75
0.00+——

T

=

Kuvvet (N.)

7.700
11.550
15,400
19.250 <
23.100
65.450
69.300
73.150
77,000 -

218

38.500 o

E

Strok (mm.)

53.900 7
57.750 o

61,600

26.950

FIG. 1



KANCA

YENi KOD
NEW CODE

BP2430 10437

BP2430 10438

BP2430 10440

BP2430 10441

BP2430 10442

BP2430 10454

KORUGU
E CHAMBER

DIYAFRAM / PISTON

DIAPHRAGM / PISTON

10140.0
10144.1
KANCA | wasco | waeco |kNORR OEM e |[TAAERS | L G
" h AIR PORT | GAITER| YOKE
ESKiKOD |ALTERNATIVE| ESKiKOD A6 | iveng | Longth
OLDCODE | CODE | OLD CODE Vida | Uzunluk
L1 L2 L4
AA.10108.8 925491 1350 20438488 VOLVO 1 M16X1,5 58 M16X1,5 - -
925 491 1357 20533202 VOLVO
925491 1300 85000577 VOLVO
7420713923 RENAULT
AA10108.10 | 925 491 1320 20533204 VOLVO 8112623 VOLVO | 1 |M16X15 220 | MI6X15 | ~— -
925491 1327 85000579 VOLVO 74207923 RENAULT
3987108 VOLVO 20533205 RENAULT
AA.10108 1 M16X1,5 200 M16X1,5 Vv 10140.0
AA.10108.0 1 | M16X1,5 320 M16X1,5 Vv 10140.0
AA.10108.1 1 'M16X1,5 260 M16X1,5 Vv 10140.0
925431 4210 1446053 SCANIA 1446054 SCANIA 1 |M16X1,5 38 M16X1,5 = 10144 .1




ORUGU
CHAMBER

CLAMP ANGLE
KELEPGE ACISI

AIR ANGLE

HAVA GiRi§ ACISI L4
T EﬁJ w { ﬂ‘gﬁ:i"“‘ g;
_t k\ =
] u 0. =B -
% L1 S
__"‘H' _ 5 _ | = | N
L %—--H 9 ==
( ¢ n
: N® I =5
N (L L J___ }
ol |
U 12

Type /Tip D/P

Operating Pressure

Calisma Basina1 Hava

Air

Permissible Medium 11
Calisma Ortam 10 bar

_12
8.5 bar

Operating Temperature Range 40°C
Calisma Sicaklig: +80°C

Control Pressure 11
Kontrol Basinci 13 bar

12
10 bar

Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

15072.00
14130.007

13188.00°
12246.00
11304004 ~—0

10362.00
9420.00]
8478.00
7536.00-
6594.007
5652.00]
4710.00 4
3768.00-
2826.007
1884.00]

942.00]

Kuwvvet (N.)

0.00

0.000
3.850
7.700
11.550
15.400
19.250 4

23.100
26.950

53.900

57.750
61.600
65.450
69,300

73.150

77.000 -



KANCA
YENi KOD
NEW CODE

BP2730 10443

N KORUGU
KE CHAMBER

STROKE 65/65

DIYAFRAM / PISTON

DIAPHRAGM / PISTON

FIG. 1
KANCA | waBco | waBco [KNORR OEM e |[TAAERS | L G
" h AIR PORT | GAITER| YOKE
ESKI KOD |ALTERNATIVE| ESKiKOD A6 | iveng | Longth
OLDCODE | CODE | OLD CODE Vida | Uzunlu
L1 L2 L4
AA10119 925499 0010 = 8901103690 = BZ7581 2G046390002 MAN 1 M16X15 250  M22X15 N4 -
AA10119.11 | 9254990017 | 925329 0000 = BZ7582 070215200  MAN ADAPTOR
AA.10119.12 9253290010 = BZ7591 11013219 MAN M16X1,5
AA10119.14 9253290020  BZ7593 81504106280 MAN
AA.10119.15 9253290040  BZ759% 81504106281 MAN
AA.10119.16 9253290090 = BZ9559 81504106313 MAN
AA10119.17 9253290110 = BZ9570 81504106412 MAN
AA.10119.18 9253290220 | 1137098 81504106420 MAN
AA.10119.20 925 329 0320 ' K2B0518XU 81504106497 MAN
AA10119.5 925 429 0020 81504106498 MAN
AA.10119.8 925 429 0027 1270272 DAF
925429 0120 1519174 DAF
925429 0140 1270273 DAF
925429 0610 1506563 DAF
925429 0617 1519135 DAF
925 429 0620 1519137 DAF
925439 4010 1519141 DAF
925 439 4017 1506563R DAF
925 439 4040 1519142 DAF
925 439 4050 1519184 DAF
925 439 4060 1603234 DAF
925459 0010 1603235 DAF
925499 0017 1504993R DAF
1935478 SCANIA
503135324  IVECO
5021170343  RENAULT
5010260346 RENAULT
5010260347 RENAULT
5010560184 RENAULT
5021170342 RENAULT
5010260183 RENAULT
0702152000 SOLARIS




ORUGU
CHAMBER

CLAMP ANGLE
KELEPCE ACISI

AIR ANGLE
HAVA GiRi§ ACISI

Type /Tip D/P

Operating Pressure Air
Caligma Basma Hava
Permissible Medium 11 12
Calisma Ortam 10 bar | 8.5 bar
Operating Temperature Range 40°C
Calisma Sicaklig +80°C
Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage 10 e/ mi
Miisade Edilen Kagak cm/min

15353.00

14393.44 7

13433.88

Kuvvet (N.)

12474.31 ] __6.5BAR

11514.75+

10555.19
9595.63 ]
8636.06
7676.50
6716.94
5757.38 ]
4797.81]
3838.25-
2878.69

1919.13]
959.56 4
0.00 — T 7T T — T
SRS S EEEEEEENEREREEE
SP R 92883899886 c88RF
Strok {(mm.}

L4
_ s AT 5
. 52 k z
( lil g Eﬁ» par
H 1)
= e =
( : |
0 ESES
Sl




N KORUGU
KE CHAMBER

STROKE 65/65

DIYAFRAM / PISTON
DIAPHRAGM / PISTON

FIG. 1
KANCA KANCA | wABCO | WABCO |KNORR OEM Ty | Frae) e (G
VUL ESKiKOD |ALTERNATIVE| ESKiKoD 6. | resas | ot
L3 oo copE | cobe | oLD CODE Vica | Uzunuk
L1 L2 L4
BP3030 10444 AA.10110.4 9254921020 = 9253221210 BZ9657 A0134206618 MB 1519164 DAF 1 M16X1,5 250 @ M22X15 Vv =
AA.10110.6 9254921027 = 9253221040 BZ7646 A0174200418 MB 1518313 DAF ADAPTOR
AA.10110.9 9253220780 BZ9663 0164200418 MB 1506395 DAF M16X1,5
AA.10110.11 925322 0980 | BZ6664 A0194208518 MB 1374223 DAF
AA.10110.12 925322 0670  K2BO522XUS | 0134201818 MB 892758 DAF
AA.10110.15 925322 1570 | KOO2612 | 0134206418 MB 082042 DAF
AA.10110.16 925322 2710 | 1137281 0194208518 MB 1305170 DAF
AA.10110.18 9254221310 | BZ9601 0164200418 MB 1270262 DAF
AA.10110.19 9254221020 BZ9646 0174200418 MB 1270262A DAF
AA.10110.23 9254222170 BZ7624 82855840000 EVOBUS 1519165 DAF
AA.10110.24 925 302 2400 | BZ9306 A0134206418 EVOBUS 5000869541 IVECO
AA.10110.25 925302 2500 BZ9307 8283696000 EVOBUS 1935475 SCANIA
AA.10110.26 9253221100 BZ9648 8283697000 EVOBUS 1935403 SCANIA
AA.10110.27 925422 1120  BZ9649 82855840000 EVOBUS 5000787260 RENAULT
AA.10110.33 925422 1220 |K2BO522 | 81504109676 MAN 5010067834 RENAULT
AA.10110.37 925492 1027 BZ7652 81504106464 MAN 5000590336 RENAULT
AA.10110.39 9253227030 |BZ6957 81504106414 MAN 5010485493 RENAULT
AA.10110.47 9253221230 BZ9600 81504106146 MAN 5021170339 RENAULT
AA.10110.56 925 322 1860 | BZ9605 81504106679 MAN 5001822981 RENAULT
AA.10110.65 925 322 1350 81504109675 MAN 5000716330 RENAULT
AA.10110.66 925 322 1300 81504106441 MAN 5021170338 RENAULT
925 322 1550 81504106146 MAN 5001829102 RENAULT
925 322 1557 81504106675 MAN 6500691 KOGEL
925 322 2240 81504106676 MAN 1188390240 BENALU
925 422 1230 81504106680 MAN 502968208 LIEBHERR
925 422 2080 81504106449 MAN 4131002 DIMETAL
925 422 2090 81504106521 MAN 151447 GOLDHOFER
925 322 2270 11013226 NEOPLAN 1270263 DAF/VDL BUS
925 322 3100 11013227 NEOPLAN 660740 DENNIS
925 432 2000 070216300 NEOPLAN
925 452 0010 11013226 NEOPLAN
890 110 3530 81504106432 MAN
9253227010 91504106146 MAN
81504106489 MAN
1519118R DAF
0282042 DAF
1518149 DAF
50018291 DAF
0282042 DAF
1518313 DAF



ORUGU

CLAMP ANGLE

KELEPCE ACIS|
AIR ANGLE
HAVA GiRis ACISI L4
sty
@l T 3
AT 11{' _j_/_uj k\ s
0 =B
[l l g =
-\ 8
— - ) Bl EIN - —
{ﬁ__% ail: ° =
R— ‘@\KJ&J }
LJ’ L2

Type / Tip D/P

Operating Pressure Air
Calisma Basina1 Hava
Permissible Medium 11 12 12| It
Calisma Ortam 10 bar | 8.5 bar I AAA: éﬁ \/\/\/\:
Operating Temperature Range 40°C LA
Calisma Sicaklig: +80°C
Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage -
Miisade Edilen Kagak 10 cm/ min
15353.00
14393.44 7
13433.88
12474.31 __6.5BAR
11514.75 4
10555.19 7
~ 9595.63
£ 8636.06_
T 7676.50
S 6716.947
¥  5757.387
4797.81
3838.25
2878.69
1919.13 ]
959.56 4
w0+
§3338%285388388888838¢%
sgWHir 2 ndagdeidd ed@gEEEREER
Strok (mm.)



KANCA
YENi KOD
NEW CODE

BP3030 10445

N KORUGU
KE CHAMBER

STROKE 65/65

DIYAFRAM / PISTON

DIAPHRAGM / PISTON

FIG. 1
KANCA | waBcO | WABCO [KNORR OEM Ty | Frae) e (G
ESKIKOD [ALTERNATIVE| ESKi KOD Fi. | Thresd. | Lot
OLD CODE CODE OLD CODE Vida | Uzunluk
L1 L2 L4
AA10110.32 | 9254921030 = 9254221300 BZ7646 0094207618 MB 10571772 SCANIA | 1 M16x1,5 250 M22X1,5 - =
AA10110.36 9254921037 = 9254222410 BZ9306 0134206818 MB 1117759 SCANIA ADAPTOR
AA.10110.42 925422 2510 = BZ9307 A0134206718 MB 1935404 SCANIA M16X1,5
AA.10110.43 9254324010 = BZ9650 0134206718 MB 10571758 SCANIA
AA.10110.44 9254324050 = BZ9657 A0134206818 EVOBUS 5010260187 RENAULT
AA.10110.54 925422 1120  BZ9663 A0134206718 EVOBUS 5010260188 RENAULT
AA.10110.55 925 322 2660 | 1137281 81504106678 MAN 5010260348 RENAULT
AA.10110.57 925 422 1307 N2504019102 MAN 5010260349 RENAULT
925 432 4060 81504106679 MAN 5001837094 RENAULT
9254324810 81504106687 MAN 5001837097 RENAULT
925 432 4850 81504106674 MAN 5010260186 RENAULT
925 432 4860 81504106677 MAN HOWO
925 492 1037 1277863A  DAF
925 432 4020 1518302R  DAF
925 422 1200 1277863R  DAF
925 432 4040 1277863  DAF
925 432 4820 1270263  DAF/VDL BUS
925 432 4840 5003224  VOLVO
1608006  VOLVO
1606834  VOLVO
1193099  VOLVO
1190406  VOLVO
5002292  VOLVO
WA9254921037 VOLVO
1197020  VOLVO
1588610  VOLVO
1935403  SCANIA
298169 SCANIA
298171 SCANIA
570532 SCANIA
1331415 SCANIA
10570532  SCANIA
1331414 SCANIA
1571772 SCANIA
1571758  SCANIA
1935448  SCANIA
302270 SCANIA
571772 SCANIA
571758 SCANIA




ORUGU

CLAMP ANGLE

KELEPCE ACIS|
AIR ANGLE
HAVA GiRis ACISI L4
_ [ [ ] Q ;
@l T 3
AT 11{' _j_/_ QT k\ s
0 B
I l g =
é Y S
S —— e e
( g L
i N Mﬁj pa
LJ’ L2

Type / Tip D/P

Operating Pressure Air
Calisma Basina1 Hava
Permissible Medium 11 12 12| It
Calisma Ortam 10 bar | 8.5 bar I AAA: éﬁ \/\/\/\:
Operating Temperature Range 40°C LA
Calisma Sicaklig: +80°C
Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage -
Miisade Edilen Kagak 10 cm/ min
15353.00
14393.44 7
13433.88
12474.31 __6.5BAR
11514.75 4
10555.19 7
~ 9595.63
£ 8636.06_
T 7676.50
S 6716.947
¥  5757.387
4797.81
3838.25
2878.69
1919.13 ]
959.56 4
w0+
§3338%285388388888838¢%
sgWHir 2 ndagdeidd ed@gEEEREER
Strok (mm.)



KORUGU
E CHAMBER

DIYAFRAM / PISTON

DIAPHRAGM / PISTON

10140.0

10144.1 10147
STROKE 65/65 10141.0
KANCA KANCA | wasco | waeco |kNORR OEM SAFT  |HAVAGIRIS) T LAS. | CATAL
" " " PUSH ROD AIR PORT | GAITER| YOKE
=1 EsKikoD |ALTERNATIVE| EskikoD A6 | iveng | Longth
20K oLDCODE | CODE | oLD CODE Vida | Uzunluk
L1 L2 L4
BP3030 10446 AA.10110 1 | M16X1,5 185 M22X1,5 = -
AA.10110.69 ADAPTOR 10140.0
M16X1,5
BP3030 10447 AA10110.MZ = 925492 0000 LP1849 MAZ 1  M16X1,5 33 M22X1,5 = =
ADAPTOR
M16X1,5
BP3030 10448 1  M16X1,5 260 M22X1,5 V' 10140.0
AA.10110.8 ADAPTOR
M16X1,5
BP3030 10449 AA.10110.38 = 925 322 2510 BZ9657 A0064205318 MB 1 Q16 77 M22X1,5 Vv 10146
925 322 2517 BZ9663 0064205318 MB ADAPTOR
A00642053180080 EVOBUS M16X1,5
070211600 NEOPLAN
7021510099 NEOPLAN
07021510099 NEOPLAN
1519124R DAF
0482512503000
BP3030 10450 AA.10110.41 = 925322 2410 BZ9657 006 420521880 MB 1 Q16 7 M16X1,5 Vv 10146
925 322 2417 BZ9663 A0064205218 MB
64205218 MB
006420521880 MB
N1011013215 MAN
70215000 NEOPLAN
11013215 NEOPLAN
07021500099 NEOPLAN
1519121 DAF
1519122R DAF
79757 KOGEL
BP3030 10451 AA.10110.52 = 925432 1140 K2B0522X50 1446058 SCANIA 1 M16X1,5 183  M22X1,5 - 10144 1
1372916 SCANIA ADAPTOR
M16X1,5
BP3030 10452 925 422 2030 A0164202118 EVOBUS 1 M16X1,5 20 M22X1,5 — 10147
925 492 2030 A0194208118 MB
BP3030 10455 AA.10110.45 5K59025-1M  BMC 1 M16X1,5 200 M16X1,5 Vv 10141,0



v

REN KORUGU

BRAKE CHAMBER

CLAMP ANGLE
KELEPCE ACISI

AIR ANGLE
HAVA GiRi§ ACISI

[ M16x1,5

SRING LOADED

WARNING

2

Type / Tip D/P

Operating Pressure Air
Caligma Basinc Hava

Permissible Medium 11 12
Caligma Ortami 10 bar | 8.5 bar
Operating Temperature Range 40°C
Calisma Sicakhig +80°C

Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage
Miisade Edilen Kagak

10 cm'/ min

11713.00+
10980.94
10248.88 ]
9516.81
8784.75-
8052.69]
7320.63]
6588.56
5856.50
5124.44 7
4392.38]
3660.31]
2928.25
219619
1464.137]
73206
0.00

Kuvvet (N.)

g
o




FREN KORUGU

BRAKE CHAMBER . .
DIYAFRAM / PISTON

DIAPHRAGM / PISTON

STROKE 57/57 (WITHOUT PLATE)

KANCA KANCA | waBCO | WABCO |KNORR OEM pusirop | avACIRs
VLI ESKi koD [ALTERNATIVE| Eski koD e | " ongh
U OLDCODE | CODE | OLD CODE Uzunluk
L2 L4
BP1216 20465 925 486 1100 A0214202618 MB 1 15 M22X1,5
NOVA
BP1216 20466 925 486 1110 A0214202718 MB 1 15 M22X1,5
BP1216 20467 925486 1010 A0214200118 MB 1 15 M22X1,5
925 486 1060 AO194204718 MB
925 486 1000 AO154201418 MB
BP1216 20468 925486 1030 AO164207218 1 15 M22X1,5
925 486 1080 A0194204818



jo4

REN KORUGU

BRAKE CHAMBER

CLAMP ANGLE
KELEPCE ACISI

AIR ANGLE
HAVA GiRi$ ACISI

[ M16x1,5

SRING LOADED

WARNING

Type /Tip D/P

Operating Pressure Air
Caligma Basma Hava

Permissible Medium 11 12
Calisma Ortam 10 bar | 8.5 bar

Operating Temperature Range 40°C
Calisma Sicaklig: +80°C

Control Pressure 1 12
Kontrol Basinci 13 bar | 10 bar

Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

12495.00
11714.06
10933.13 ]
10152.19.
9371.25
8590.31
7809.38
7028.44 |
6247.50
5466.56
4685.63
3904.69
3123.75
2342.81
1561.88 7]
780.94
0.00

Kuvvet (N.)

&
(=]




FREN KORUGU

BRAKE CHAMBER

DIYAFRAM / PISTON
DIAPHRAGM / PISTON

STROKE 57/57 (WITHOUT PLATE)
FIG. 1

WS kanca | waBco | WABCO | KNORR rusirop | TAvAGIRIS
VLI EskikoD [ALTERNATIVE[ ESKi KOD 1 Mo

\[2)'Aeeb]=88 OLD CODE CODE OLD CODE Uzunluk
L2 L4

BP1416 20401 925 468 1400 M16X1,5

BP1416 20402 925 468 1410 M16X1,5

BP1416 20404 925 426 3000 1523960 DAF M22X1,5
5010422317 RENAULT

BP1416 20405 925 426 3010 5010422318 RENAULT M22X1,5




CLAMP ANGLE
KELEPCE ACISI

REN KORUGU
RAKE CHAMBER

AIR ANGLE
HAVA GiRi$ ACISI

g
—

X ey faes

ﬂ ER— e
J, L2
B

[

b

T
T

Type /Tip D/P

Operating Pressure
Calisma Basina1

Air
Hava

Permissible Medium
Caligma Ortam

11
10 bar

12

Calisma Sicaklig:

Operating Temperature Range

-40°C
+80°C

12 m I
85 bar i %u \N\/\

Control Pressure
Kontrol Basinci

11
13 bar

_12
10 bar

Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

13024.00
12210.00 ]
11396.00_]
10582.00 ]
9768.00
8954.00]

6512.00
5698.00
4884.00]
4070.00
3256.00
244200
1628.00]

814.00]

Kuwvet (N.)

7326.00 | ~—u___

814000 S~

7.2 BAR

§j,SMR

0.00 T

g 8

o o

10.050

g

16.750 4
20.100
23.450
26.800
30.150
33.500



FREN KORUGU

BRAKE CHAMBER . .
DIYAFRAM / PISTON

DIAPHRAGM / PISTON

STROKE 57/57 (WITHOUT PLATE)

FIG. 1
WS kanca | waBco | WABCO | KNORR OEM rusirop | TAvAGIRIS
VLI EskikoD [ALTERNATIVE[ ESKi KOD re.| "l
IS oLb cobE | CODE | OLD CODE U .
BP1616 20406 925 424 8000 BS9396 | 81504109739 MAN 81504106583 MAN 1 15 M22X1,5
K007647 = 81504106581 MAN 1505435 DAF
BS9383 = 8150416583 MAN 500337674  IVECO
0482514300000 81504109583 MAN 5010422319 RENAULT
81504106739 MAN 443219X600 NISSAN
BP1616 20407 = AA10503.1 = 925 464 4500 BS9397 | A0174208818 MB-EVOBUS 334655  KOGEL 1 15 M16X1,5
11311227 | 0174208818 MB A3A827201 FRUEHAUF
BS9391 | 1505447  DAF M076154  FRUEHAUF
0203278600 BPW 58128670 KRONE
336679 KOGEL 5812867 KRONE
BP1616 20408 AA.10503.2 = 925464 4510 BS9390 = A0174208918 MB-EVOBUS M076162 FRUEHAUF = 1 15 M16X1,5
0174208918 MB A3A827202 FRUEHAUF
0203278700 BPW 5812868 KRONE
336681 KOGEL 58128680 KRONE
BP1616 20409 925 486 4000 = 925 466 4000 0204207218 MB 1 15 M22X1,5
A0154201618 MB
A0204207218 MB
0154201618 MB
BP1616 20410 925486 4010 = 925466 4010 A0154201518 MB-EVOBUS 1 15 M22X1,5
0204207118  MB
A0204207118 MB
0154201518  MB
BP1616 20411 0500001030  BPW 1 15 M16X1,5



REN KORUGU

RAKE CHAMBER

CLAMP ANGLE
KELEPCE ACISI

AIR ANGLE
HAVA GiRi§ ACISI L4

a
—

=0
T T b
! 0 I
A
i Jr 12
0 =
|| ﬁj@*

B
)
L\,

Type / Tip D/P

Operating Pressure Air
Calisma Basinci Hava

Permissible Medium 11 12
Calisma Ortam 10 bar | 8.5 bar I 'A\ 'A\A s éﬁ \/\/\/\:
Operating Temperature Range -40°C V V v
Calisma Sicaklig +80°C

Control Pressure 1 12
Kontrol Basinci 13 bar | 10 bar

Permissible Leakage

-
Miisade Edilen Kagak 10 cm'/ min

13305.00
12473.447
11641.88 7]
1081031
9978.75-]
9147.19
8315.63 :\
7484.06
6652.50 N
5820.941 85BAR
4989.38 7
4157.81
3326.25-]
2494691
1663.13]
831.56 ]
0.00 +————

g

=]

Kuvvet (N.)

3.400
.80

10.200
13.600
17.000
20.400
27.200
40.800
44.200
51.000 4
57.800
61,200
64,600
68.000 -

54.400




FREN KORUGU

BRAKE CHAMBER . .
DIYAFRAM / PISTON
DIAPHRAGM / PISTON

STROKE 57/57 (WITHOUT PLATE)

KANCA KANCA | waBco | waBco |KNORR OEM rusirop | TAvAGIRIS
VL ESKiKOD [ALTERNATIVE| EsKi koD e | o
AT oD CODE |  CODE | OLD CODE Uzunluk
L2 L4
BP1224 20412  AA10080.3 = 9254860110 | 925466 0110 | BS9202 = 0204203218 MB  A0154205618 MB-EVOBUS 1 15 M22X1,5
A0204203218 MB  ZG046340002 MAN
0174209618 MB 1506272 DAF
0154205618 MB
BP1224 20413  AA.10080.2 = 925486 0100 | 925466 0100 = BS9201 = A0204203118 MB  ZG046330002 MAN 1 15 M22X1,5

0154205518 MB 1506228 DAF
0204203118 MB 1505449 DAF
0174209518 MB

A0154205518 MB - EVOBUS



REN KORUGU

CLAMP ANGLE
KELEPCE ACISI

AIR ANGLE

RAKE CHAMBER

HAVA GiRi§ ACISI

L4
e_Te
T =1 ) .-
( |i| ;t EE@: M16x1,5
N1 : ej:r 16
| I | HLe
B

Type/Tip  D/P

B

Operating Pressure Air
Calisma Basina1 Hava
Permissible Medium 11 12 12| It
Calisma Ortam 10 bar | 8.5 bar I A\/'\n i \/\/\/\:
Operating Temperature Range 40°C
Calisma Sicaklig: +80°C
Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage 10 o/ mi
Miisade Edilen Kagak cm/min
14857.00 s
13928.44 it
12999.88 ] 12108.69.]
12071.31 e
11142.75 11177.25+
10214.197 10245.81_
—. 928563 . 931438
2 8357.06 £ 838294
o 7428.50 T 7451504
f o P o EEERRL
* 5571.38 | = 5588.63 85BAR
464281 4657.19 :
3714.25- OEEAR 372575
2785.697 2794.31
1857137 1862.88 7]
92:2- 931.44
' WA R e hle 4 % ' 0.00 T  DAEUTII (o ST R e s o e s b e m
ESESSEgE RS g REEERs s
EEFRERERR R R RRRRE fs3i88136883283§883¢
Strok (mm.)

Strok (mm.)

FIG. 3



FREN KORUGU

BRAKE CHAMBER . .
DIYAFRAM / PISTON

DIAPHRAGM / PISTON

KANCA KANCA | waBco | waBco |[KNORR OEM rusirop | TAvAGIRIS
VLI ESKiKOD [ALTERNATIVE| ESKiKOD e | "o
S0 oLD CODE |  CODE | OLD CODE Uzunvk
L2 L4
BP1424 20414  AA10090.3 = 9254880120 & 925468 0120 BS9253 A0194205118 MB 194205118 MB 1 15 M22X1,5
925 488 0140 A0154205718 MB 1525765 DAF
0154205718 MB 1935466 SCANIA
BP1424 20415 9254880150 = 925 468 0130 A0154205818 MB 0194205018 MB 1 15 M22X1,5
925 488 0130 0154205818 MB 1524500 DAF
A0194205018 MB
BP1424 20416 925 488 0100 1517296 DAF 1 15 M22X1,5
BP1424 20418 9254880000 = 925468 0000 = BS9253 0204201318 MB 3 15 M22X1,5
A0204201318 MB
A0154202918 EVOBUS
1505452 DAF
BP1424 20419 9254880010 | 925468 0010 = BS9254 A0154203018 EVOBUS 3 15 M22X1,5

0204201418 MB



REN KORUGU

RAKE CHAMBER

CLAMP ANGLE
KELEPCE ACISI

AIR ANGLE
HAVA GiRi§ ACISI L4

T Y N
ﬂ o[ | P

g
=9
B
|

I
i
] 1
[}
I
I
) (=)
WARNING SRING LOADED
I
o)
-
Q
—
o~

=
O

[
b
T
T

Type /Tip D/P

Operating Pressure Air
Caligma Basma Hava
Permissible Medium 11 12 ) 121t
Calisma Ortam 10 bar | 8.5 bar I AV"\’V éﬁ \/\/\/\:
Operating Temperature Range 40°C V
Calisma Sicaklig +80°C
Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage 10 e/ mi
Miisade Edilen Kagak cm/min
13761.00- 13257.00
12900.94: 12428.447
12040.88 | 11599.88 |
11180.81 10771.31
10320.75 8,5 BAR 9942.75+ 8,5 BAR
9460.69 9114.197
. 8600.63] . 828563
£ 7740.56 ] £ 7457.06_|
T 6880.50 6,5 BAR ©  6628.50
S 6020447 /7 579004
* 5160387 ¥ 4971387
4300.31] 4142.81 ]
3440.25+4 3314.25
2580.19-] 2485691
1720.13] 1657.13]
860.06 828.56
0.00 | I YT PELR TR rr ey pvED e s T i Eoes o wyer pran 0.00 R R A S e
§§888E858888¢8¢8¢R88¢88¢R8§88 ggggnaggaaagesgaggaggcs
crmeprHirRRREIRRILSEILGE TR sermrEeedgidgtEseseEaEERE
Strok (mm.) Strok (mm.)

FIG. 1 FIG. 3



FREN KORUGU

BRAKE CHAMBER . .
DIYAFRAM / PISTON

DIAPHRAGM / PISTON

KANCA KANCA | wABCO | WABCO |KNORR OEM rusirop | TAvAGIRIS
VEULCHIM EskikoD [ALTERNATIVE| ESKikoD e | "o
VL3 oo copE | cobE | oLD CODE Uzunivk
L2 L4
BP1624 20420 AA.10083 925 464 5000 BS9304 = 0184205318 MB 1 15 M16X1,5
A0184205318 MB - EVOBUS
1505448 DAF
0203278800  BPW
505821377 KRONE
BP1624 20421  AA.10083.1 = 925464 5017 BS9304 = A0204206018 MB 0203278900 BPW 1 15 M16X1,5
925 464 5050 0184205218 MB 505821378 KRONE
925 464 5010 A0184205218 MB-EVOBUS
1518162 DAF
BP1624 20465 AA.10083.4 884 008 7740 1 15 M22X1,5
BP1624 20422 AA.10083.13 = 925484 0100 = 9254640000 = BS9308 = A0194205318 MB 0194206318 MB 3 15 M22X1,5
925 484 0000 A0154203318 MB 1501927  DAF
0154204118  MB 1505446  DAF
0154203318  MB 1935463  SCANIA
0194205318 MB
BP1624 20423 925 464 0040 A0174208618 MB 3 15 M22X1,5
0174208618 MB
BP1624 20464  AA.10083.14 | 925484 0110 A0194205518 MB 3 15 M22X1,5



REN KORUGU
RAKE CHAMBER

CLAMP ANGLE
KELEPCE ACISI

AIR ANGLE
HAVA GiRi§ ACISI L4

&)

[ M16x1,5

7
i

H
I 1
| I
1
I
I
)
WARNING |  SRING LOADED
|
0]
_I
8
o~

=
o

[

E
T
T

Type /Tip D/P

Operating Pressure Air

Calisma Basina1 Hava

Permissible Medium 11 12 ) 12| 111
Caligma Ortami 10 bar | 8.5 bar A \/\/\/\
Operating Temperature Range 40°C

Calisma Sicaklig: +80°C

Control Pressure 11 12

Kontrol Basinci 13 bar | 10 bar

Permissible Leakage 10 e/ mi

Miisade Edilen Kagak cm/min

14557 00
410538 10 1364719
6L TS AR Ll 12TAI38
231 10442 06 4 1182756,
11287 50 L 1091775
= 2 = : e sgoan
= =z e z
% A, 3 fren n \ 3 8.5 BAR & :;:’1;
E 5428 g sman : Z Jetpes
= fid 198 A
ATOL1Y. & ) ALG08,
ATELS50. X225, 3625,
FoiE ) 40 AT
RLEC) T80 B3 L)
BeES. Lokl g1l

TNl
£ 188 Ed3R




K FREN KORUGU
C BRAKE CHAMBER

DIYAFRAM / PISTON

(WITHOUT PLATE) DIAPHRAGM / PISTON

STROKE 57/57 STROKE 65/65 STROKE 65/65 STROKE 75/75

FIG. 1 FIG. 2 FIG. 3 FIG. 4
WS kanca | waBco | WABCO | KNORR OEM rusirop | TAvAGIRIS
VLI EskikoD [ALTERNATIVE[ ESKi KOD re.| "l
IS oLb cobE | CODE | OLD CODE ok
L2 L4
BP2024 20424 AA.10084 925 460 0270 1522314 DAF 1 15 M16X1,5
20361844 VOLVO
BP2024 20425 = AA.10084.15 | 9254800350 = 925 460 0350 A0184206318 MB 1 15 M22X1,5
AA.10084.12 A0204205818 MB
BP2024 20426  AA.10084.17 | 9254800107 = 9254600107 = BS9404 A0204203318 MB 0154208518 MB 2 15 M22X1,5
9254800100 = 9254600100 = BS9405 | A0154207518 MB -EVOBUS 0204204918 MB
BP2024 20427 AA.10084.18 | 9254800117 = 9254600117 = BS9406 A0204203418 MB 0204203418 MB 2 15 M22X1,5
9254800110 = 9254600110 0154208618 MB 0204205018 MB
A0154207618 MB-EVOBUS 1519190  DAF
BP2024 20428 925460 1010 BS9486 = A0184205618 MB 1935450  SCANIA
0184205618 MB 0203276700 BPW 2 15 M16X1,5
1519192 DAF 499027  ORTHAUS
WA9254601010 VOLVO
BP2024 20429  AA.10084.8 | 925460 0740 5010525321 RENAULT 2 15 M22X1,5
BP2024 20430 = AA.10084.21 | 9254800040 = 925460 0007 = BS9411 = A0194205518 MB 0154204718 MB 3 15 M22X1,5
9254800047 = 925460 0000 & BS9412 A0154204318 MB 0194206518 MB
0194205518 MB 1505439  DAF
0154204318 MB 1519442 DAF
0214209518 MB
BP2024 20431 AA.10084.22 | 9254800010 & 9254600010 = BS9412 A0194205418 MB 0194206418 MB 3 15 M22X1,5
9254800050 = 925460 0017 A0154204418 MB 0194205418 MB
925 480 0057 0214209418 MB 1519189  DAF
0154204418 MB 1506681  DAF
0154204618 MB
BP2024 20432 925 460 2200 4 20 M16X1,5
BP2024 20433 925 460 2210 4 20 M16X1,5
BP2024 20434 925 460 1300 81504106820 MAN 4 20 M22X1,5
1518159 DAF



REN KORUGU
RAKE CHAMBER

CLAMP ANGLE
KELEPCE ACISI

AIR ANGLE
HAVA GiRi§ ACISI L4

&)

1
I
1
I EBL— M16x1,5
| T

£

| | |

I 1

| I
1
I
I

WARNING | SRING LOADED

|

_I

=
o

[

E
T
T

Type /Tip D/P

Operating Pressure Air
Caligma Basma Hava
Permissible Medium 11 12 121t
Calisma Ortam 10 bar | 8.5 bar AV“ A ' \/\/\/\
Operating Temperature Range 40°C /
Calisma Sicaklig +80°C
Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage 10 crri/ mi
Miisade Edilen Kagak cm/min
1388100 14TE5.00-
izt e i
& = &
H g Toes iy iy
t § oo P
50538 55088
aarm AE1A06.
TS, 26125
260266 2T
1 RSN
TS, m:l 1
IO P T IONT T TN TITERT
Strck jm—) Sbok jmm ) Savok (mm ) Sarcsk (e )




K FREN KORUGU
C BRAKE CHAMBER

(WITHOUT PLATE)

DIYAFRAM / PISTON
DIAPHRAGM / PISTON

FIG. 2A
STROKE 57/57 STROKE 65/65 STROKE 65/65 STROKE 75/75
FIG. 1 FIG. 2 FIG. 3 FIG. 4
KANCA KANCA | waBco | waBco |[KNORR OEM rusirop | TAvAGIRIS
VLI ESKiKOD [ALTERNATIVE| ESKiKOD e | "o
S0 oLD CODE |  CODE | OLD CODE Uzunvk
L2 L4
BP2424 20435 AA.10085.19 | 9254810000 9254610000 = BS9500 | A0154209118 MB 0154209118 MB 1 15 M22X1,5
A0204204218 MB 0204204218 MB
BP2424 20436 = AA.10085 925 461 0320 4454105600 SAF /SAUER 1 15 M16X1,5
BP2424 20437  AA.10085.7 925 481 2200 MB 1 15 M22X1,5
BP2424 20438 AA.10085.21 = 9254810127 @ 9254610107 = BS9504 = A0194205718 MB 0194206718 MB 2 15 M22X1,5
9254810120 = 9254610100 A0154209318 MB 1519378 DAF
925 4810100 0154209318 MB DONFENG
0154209718 MB HOWO
BP2424 20439 | AA.10085.15 = 9254810327 9254610700 BS9504 | 20466070 VOLVO 3987614 VOLVO 2 A 15 M16X1,5
925 481 0320 20721845 VOLVO 8113459 VOLVO
925 461 1010 85000253 VOLVO 1935462 SCANIA
85000466 VOLVO 8500253 SCANIA
BP2424 20440 | AA10085.25 = 9254810040 7421401943 RENAULT 2 A 15 M16X1,5
AA10085.23 = 925481 0500 20522028 VOLVO
925 481 3600 21596227 VOLVO
925 481 3620 7421596229 RENAILT
BP2424 20447 925481 1170 7420809444 RENAULT 2 A 15 M16X1,5
BP2424 20443 | AA10085.16 | 925461 1020 20466071 VOLVO 2 A 15 M16X1,5
BP2424 20444 AA.10085.17 = 925461 1030 20466072 VOLVO 2 A 15 M16X1,5
BP2424 20445 925 481 1160 20742392 VOLVO 2 A 15 M16X1,5
BP2424 20446 AA.10085.14 = 925461 0550 2 26 M22X1,5
BP2424 20442 AA10085.11 = 925461 2410 1439374 DAF 3 15 M22X1,5
BP2424 20448 AA.10085.12 = 925461 0360 1608983 DAF 3 15 M22X1,5
BP2424 20449 925 481 2600 21115362 VOLVO 4 20 M22X1,5
BP2424 20450 925 461 2100 A0154209318 MB 81504106660 MAN 4 26 M22X1,5
0154209318 MB
BP2424 20451 925461 2110 81504106661 MAN 4 26 M22X1,5




Clamp Angle

A1 — Air Angle

Hava Girig Agisi

Kelepge Agisi T

EN KORUGU
AKE CHAMBER

| [mitexts

Type /Tip D/P

Operating Pressure
Calisma Basina1

Air
Hava

Permissible Medium
Caligma Ortam

11 12
10 bar | 8.5 bar

Operating Temperature Range
Calisma Sicaklig:

-40°C
+80°C

Control Pressure
Kontrol Basinci

11 12
13 bar | 10 bar

Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

17442.00
16351.88
15261.75 ]
14171.63
13081.50
11991.38
10901.25 ]

Kuwvet (N.)

6540.75 ]
5450.63
4360.50
3270.38
2180.257]
1090.13

0.00 +———

9811.13
8721.00 8,5 BAR
7630.88 1 e

g
=]

4.450
8.900
13.350
17.800

22,250
31.150

66.750

71.200
75.650

80,100

84.550
89.000 -



FREN KORUGU 20/30 / DP |

BRAKE CHAMBER . .
DIYAFRAM / PISTON

DIAPHRAGM / PISTON

STROKE 75/75 (WITHOUT PLATE)

WS kanca | waBco | WABCO | KNORR OEM rusirop | TAvAGIRIS
VLI EskikoD [ALTERNATIVE[ ESKi KOD e | Longn
IS oLb cobE | CODE | OLD CODE Uzuick
L2 L4
BP2030 20452  AA.10507.1 5001848403 RENAULT MERITOR 1 26 M16X1,5
BP2030 20453  AA.10507.2 5001848402 RENAULT MERITOR 1 26 M16X1,5



CLAMP ANGLE
KELEPCE ACISI

REN KORUGU
RAKE CHAMBER

AIR ANGLE

HAVA GiRi§ ACISI

g

)

. M
G2 ﬁ @_M

!

SRING LOADED

(==

WARNING
—
N

2

[
?‘,
T

=

Type /Tip D/P

Operating Pressure
Calisma Basina1

Air
Hava

Permissible Medium
Caligma Ortam

11 12

T0bar | 85 par AAA \/\/\/\_
10 bar 8.5 bar [ AWAWAWS E
VY éﬁ

Calisma Sicaklig:

Operating Temperature Range

-40°C
+80°C

Control Pressure
Kontrol Basinci

11 12
13 bar | 10 bar

Permissible Leakage

Miisade Edilen Kagak

10 cm’/ min

15628.00
14651.257
13674.50 ]
12697.75
11721.00
10744.257

7814.00-
6837.25
5860.50 ]
4883.75_
3907.00
2030.25
1953.50]
976.75
0.00

Kuwvet (N.)

9767.50]
8790751

6 BAR

0.000
3.850

7.700
11.550
15.400

19.250

26.950
30.800
34.650
38.500
46.200
53.900 7]
57.750
61.600
65.450
69.300
73.150
77.000 2

50.050

23.100
3 42350

Strok

m

)

FIG. 1



FREN KORUGU

BRAKE CHAMBER . .
DIYAFRAM / PISTON

DIAPHRAGM / PISTON

FIG. 1A

STROKE 65/65 (WITHOUT PLATE)

KANCA KANCA | waBco | waBco |[KNORR OEM rusirop | TAvAGIRIS
VLI ESKiKOD [ALTERNATIVE| ESKiKOD e | "o
S0 oLD CODE |  CODE | OLD CODE Uzunvk
L2 L4
BP2430 20454 | AA.10086.1 | 9254614710 3177336 VOLVO 1A 15 M16X1,5
BP2430 20455  AA.10086 925481 0700 20721842 VOLVO 1A 15 M16X1,5
925 461 4720 3197931  VOLVO
20410136 VOLVO
BP2430 20456 AA.10086.2 = 9254614700 3177336  RENAULT 1A 15 M16X1,5
3177337 VOLVO
BP2430 20457 9254811210 7420533192 RENAULT 1A 15 M16X1,5
925 481 1220 20533192  RENAULT
20742390  VOLVO
BP2430 20458 925 481 1230 20742391  VOLVO 1A 15 M16X1,5
925 481 1200 7420533193 RENAILT
BP2430 20459 = AA.10086.5 = 9254613210 1481538  SCANIA 1 15 M16X1,5
BP2430 20460 = AA.10086.4 | 9254613200 1481537  SCANIA 1 15 M16X1,5



REN KORUGU

RAKE CHAMBER

CLAMP ANGLE
KELEPCE ACISI

AIR ANGLE
HAVA GiRi§ ACISI L4

AY
|
g
=9
B
|

[ M16x1,5

i

’ | |

[

[
0
|
|

WARNING SRING LOADED

]

Iz

=
o

Type /Tip D/P

Operating Pressure Air
Calisma Basinci Hava

Permissible Medium 11 12
Calisma Ortam 10 bar | 8.5 bar vy %[I \/\/\/\:
Operating Temperature Range 40°C V
Calisma Sicaklig +80°C

Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

16525.00
15492197
14459.38 ]
13426.56
12393.75-
11360.94
10328.13 ]
9295.31 v
8262.50-
7229.69- G8AR
6196.88 ]
5164.06
4131,25-
3098.44 -
2065.63 ]
1032.81
0.00 A————

Kuwvet (N.)

000
850
7.700
11.550
15.400
19.250 4
23.100
57.750 4
61.600
65.450
69.300
73.150
77.000 -

50.050
53.900



FREN KORUGU
BRAKE CHAMBER

DIYAFRAM / PISTON
DIAPHRAGM / PISTON

STROKE 65/65 (WITHOUT PLATE)

WS kanca | waBco | WABCO | KNORR OEM rusirop | TAvAGIRIS
VLI EskikoD [ALTERNATIVE[ ESKi KOD e | Longn
IS oLb cobE | CODE | OLD CODE Uik
L2 L4
BP2730 20461 AA.10089 925 489 1000 20524515 VOLVO 1 15 M16X1,5
BP2730 20462  AA.10089.1 = 925489 1010 20512225 VOLVO 1 15 M16X1,5



REN KORUGU 30/30 m

RAKE CHAMBER

CLAMP ANGLE
KELEPCE ACISI

AIR ANGLE
HAVA GiRi§ ACISI L4

N

[ M16x1,5

fa—
(==
=
s
o~

il
=
o)
-
K

£
WARNING
-
N

=
O

4
|
%
l/_-__
<
_\_

Type /Tip D/P

Operating Pressure Air
Calisma Basinci Hava

Permissible Medium 11 12
Calisma Ortam 10 bar | 8.5 bar A %[I \/\/\/\Z
Operating Temperature Range 40°C
Calisma Sicaklig: +80°C

Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage
Miisade Edilen Kagak

10 cm’/ min

15353.00+
14393.447
13433.88 ]

1247431 98 S
11514.75 /
10555.19

9595.63 ]

8636.06

7676.50

6716.94

5757.38]

4797.81

3838.25-

2878.69

1919.137]
959.56 _|
0.00

Kuwvvet (N.)

0.000
3.850
7.700
11.550
15.400
19.250
23100
26.950
30.800
34.650
46.200
50.050
53.900
57.750
61.600
65.450
69.300
73150
77.000 =

3 42350

Strok (m

FIG. 1



FREN KORUGU 30/30 ‘!’

BRAKE CHAMBER . .
DIYAFRAM / PISTON

DIAPHRAGM / PISTON

STROKE 65/65 (WITHOUT PLATE)

FIG. 1
WS kanca | waBco | WABCO | KNORR OEM rusirop | TAvAGIRIS
VLI EskikoD [ALTERNATIVE[ ESKi KOD .| Lengh
IS oLb cobE | CODE | OLD CODE ok
L2 L4
BP3030 20463  AA.10087 1 15 M16X1,5



KORUGU
BRAKE CHAMBER el m
9/7400 / DP |

AIR ANGLE
HAVA GIRIS ACISI
A3 FLANGE ANGLE
FLANS ACISI
L2
L4

CLAMP ANGLE
| KELEPGE ACISI
Type / Tip D/P
Operating Pressure Air
Caligma Basinc1 Hava
Permissible Medium 11 12 m 1l 11z
Caligma Ortamu 10 bar | 8.5 bar I ”VHVHV' éﬁ \/\/\/\:
Operating Temperature Range 40°C
Calisma Sicakhigs +80°C
Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage -
Miisade Edilen Kagak 10 cm'/ min
14549.00 12732.00
13639.69 11936.25
12730.38 ] e
11821.06 10344.75 |
10911.75+ 9549.00
10002.44 8753.257
~  9093.13] . 7957.50]]
£ 8183.81] £ 716175
T 7274504 g 6366.00
5 6365197 5 5570257
545588 ]— 4774.50°]
4546.56 6,8 BAR 3978.75 4 \/6’ SBAR
3637.25+ 3183.004
212194} 2387.25
1818.63 ] 1591.50 ]
909.314 795.75 4
0.00 SR A GO FEUT I o Sre o (e e pem e oy o e 0.00 T
§28EER8BREEEET2REEREE §8EEEEREEEEREEEEREEEE
emMm®e 222 EEARREERARAYESERER em®e ® 3 22N O 88 883 I SFR BG83
Strok (mm.) Strok (mm.)

FIG. 1 FIG. 2



N KORUGU
BRAKE CHAMBER el m
9/7400 / DP |

DIYAFRAM / PISTON
DIAPHRAGM / PISTON

STROKE 44,5/44,5

STROKE 53/53 STROKE 44,5/44,5

KANCA KANCA | WABCO | KNORR OEM BORE HARGIRIS | Nae
7= Eskikop | CcoDE FG. | Thread | Lengh
NEW CODE OLD CODE Vida Uzunluk
L1 L2 L4
BP9620 30401 AA.10106.0 91CT2025EA FORD 1  13/4-12UNS 187 M16X1,5 -
BP9620 30402 AA.10106.7 = 425426 0620 1 | 13/4-12UNS 187 M16X1,5 =
BP9620 30403 AA.10106.5 BATISAN 2 = 180 M16X1,5 Vv
BP9620 30404 CARGO 2 = 225 M16x1,5 Vv
BORU IRI FLAN
KANCA KANCA | WABCO | KNORR OEM TOBE HARORIS [ NGE
YENI KOD ESKI KOD CODE FIG. | Thread Length
NEW CODE  [RI Yoo Vida | Uzunivk
L1 L2 L4
BP9740 30405 AA.10106 95CT2025BA FORD 1 | 13/4-12UNS 187 M16X1,5 =



N KORUGU 12/6200 m

BRAKE CHAMBER

AIR ANGLE
HAVA GIRIS ACISI
A3 FLANGE ANGLE

FLANS AGISI Lo

L4

AZ

CLAMP ANGLE
| KELEPGE ACISI
Type / Tip D/P
Operating Pressure Air
Calisma Basinci Hava
Permissible Medium 11 12 1l 11z
Galisma Ortam: 10 bar | 85 bar TRy :
Operating Temperature Range 40°C LA
Calisma Sicakhigs +80°C
Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar
Permissible Leakage 10 i/ mi
Miisade Edilen Kagak cm/min
12057.00 13025.00+
11303.44 7 12210.947
10549.88 ] 11396.88
9796.31 10582.81 4
9042.75+ 9768.75
8289.197 8954.697
_ 7535637 . 8140637
£ 678206 £ 7326.56
g 602850 ¥ 651250
3 527484 T—n 3 5698.447
¥ 4521.387 A 2 4ssa3s] 6,8 BAR
376781 . 407031 \/
3014.254 : 3256.25+
2260.697] 2442.197
1507.137] 1628.13 ]
753.56 814.06 -
0.00 RIS p o Fe e e e ) e b S e i 0.00 T L SRR R SO A St LRI S R |
g 8§8§8888¢8¢E88888¢88¢8¢ g8g88Eggsggagagggggsgsse
SeNMe 20222 RNERFR88F 3 ST Sme o d2 2y gENEEsISEEEES
Strok (mm.) Strok (mm.)

FIG. 1 FIG. 2



KANCA
YENi KOD
NEW CODE

BP1262 30406

BP1262 30407

BP1262 30408

BP1262 30409

BP1262 30410

BP1262 30411

BP1262 30423

BP1262 30424

BP1262 30425

BP1262 30426

BP1262 30427

BP1262 30428

BP1262 30412

EN KORUGU
E BRAKE CHAMBER

STROKE 44,5/44,5
STROKE 53/53

12/6200/ DP

DIYAFRAM / PISTON
DIAPHRAGM / PISTON

STROKE 44,5/44,5

KANCA | WABCO | KNORR OEM i HARGIRIS | NeE
ESKI KOD CODE FIG. | Thread Length
OLD CODE Vida Uzunluk
L1 L2 L4
AA.10107 1 13/4-12UNS 157 M16X1,5 -
AA.10107.2 93CT20250A FORD 1 | 13/412UNS 187 M16X1,5 -
AA.10107.1 Y.M CARGO 1 M48X2 187 M16X1,5 -
4233270640 = BY7221 1518655 DAF 1 | 13/412UNS 187 M16X1,5 -
BY7226 42072532 IVECO
BFM121BX CARGO
425354 0500 = BY8203 81504106377 MAN 1 M48X15 180 M16X1,5 -
81504106382 MAN
425 327 0620 1 | 13/412UNS 250 M16X1,5 -
3C46-2025-BA 1 [13/4-12UNS 168 M16X1,5 -
93CT-2025-DB 1 | 13/412UNS 193 M16X1,5 =
VXCT-2025-AA 1 13/4-12UNS 250 M16X1,5 =
6C46-2025-EA 1 M48X2 250 M16X1,5 =
6C46-2025-FA 1 M48X2 193 M16X1,5 -
6C46-2025-DA 1 M48X2 168 M16X1,5 -
AA.10107.5 BATISAN 2 = 180 M16X1,5 v




AKE CHAMBER

FLANGE ANGLE

__\ FLANS ACISI
A3

AIR ANGLE
HAVA GIRi§ ACISI

L2

CLAMP ANGLE {

KELEPCE ACISI ol TN
[

A2 Q

Q
\o

Type / Tip D/P

Operating Pressure Air
Calisma Basinci Hava

12| |11

Permissible Medium 1 12

Caligma Ortamu 10 bar | 8.5 bar L A\/".A. %[l \/\/\/\

Operating Temperature Range 40°C
Calisma Sicakhigs +80°C

Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar

Permissible Leakage

3,
Miisade Edilen Kagak 10 cm'/ min

14394.00
13494.38
12594.75]
11695.13
10795.50 -
9895.88
8996,25:\ 7 BAR
8096.63_ /
7197.00- %
6297.38
5397757
4498.13
3598.50-
2698.88
1799.25 7]
899.63
0.00 +——

Kuwvet (N.)

0.000
3.250
6.500
9.750
13.000
16.250
39.000
42.250
45.500
48.750 -
52.000
55.250
500
61,750
65.000

FIG. 1-FIG. 2

rrececdeccdeeymbhoeeag
1

[ U S S




KANCA
YENi KOD
NEW CODE

BP1624 30413

BP1624 30414

BP1624 30415

BP1624 30416

N KORUGU
BRAKE CHAMBER

STROKE 53/53

DIYAFRAM / PISTON

STROKE 53/53

DIAPHRAGM / PISTON

KANCA | WABCO | KNORR OEM i HAAOIRIS | e
ESKI KOD CODE FIG. | Thiead | Length
OLD CODE Vida Uzunluk
L1 L2 L4
AA10121.4 [VECO 1 M48X2 190 M16X1,5 -
57RS304819 BMC

1 13/4-12UNS 318 M16X1,5 —
AA.10121.5 2 - 174 M22X1,5 v
AA10121.3 2 - 180 M16X1,5 7



ORUGU

FLANGE ANGLE

__\ FLANS ACISI
A3

AIR ANGLE
HAVA GIRi§ ACISI

A2

CLAMP ANGLE

KELEPCE ACISI ol

AKE CHAMBER

L2

Type / Tip D/P

Operating Pressure
Calisma Basinci

Air
Hava

Permissible Medium
Caligma Ortamu

10 bar | 8.5 bar

1 12

Operating Temperature Range
Calisma Sicakhigs

-40°C
+80°C

Control Pressure
Kontrol Basinci

11 12
13 bar | 10 bar

Permissible Leakage
Miisade Edilen Kagak

10 cm'/ min

13223.00+
12396.56
11570.137]
10743.69 |
9917.25-
9090.817

826438

7437.94
6611.50-
5785.067
4958.63
413219
3305.75-
2479317
1652.88 ]

826.44

Kuwvvet (N.)

\o

12| |11

7 BAR

=

0.00
g

=

17.000

3.400
6.800
10.200
13.600

20.400
23.800
27.200

30,600

T T T

400

g
3

a7,

Strok (mm.)

FIG. 1

g8

g

=

]

51.000
54.400

57.800

61.200

64.600
68.000 -

VNI [ VIV S —

1
L e




KANCA
YENi KOD
NEW CODE

BP1824 30417

N KORUGU
BRAKE CHAMBER

STROKE 53/53

DIYAFRAM / PISTON
DIAPHRAGM / PISTON

KANCA | WwaBCO | KNORR OEM i HAVAGIRIS | FLANS
0 AIR PORT FLANGE
ESKI KOD CODE FIG. | Thiead | Length
OLD CODE Vida Uzunluk
L1 L2 L4
1 MABX15 180 M22X15 -



ORUGU

FLANGE ANGLE

__\ FLANS ACISI
A3

AIR ANGLE
HAVA GiRi§ ACISI

A2

CLAMP ANGLE

KELEPCE ACISI T

AKE CHAMBER

Type / Tip D/P

Operating Pressure
Calisma Basinci

Air
Hava

Permissible Medium
Caligma Ortamu

10 bar | 8.5 bar

1 12

Operating Temperature Range
Calisma Sicakhigs

-40°C
+80°C

Control Pressure
Kontrol Basinci

11 12
13 bar | 10 bar

Permissible Leakage
Miisade Edilen Kagak

10 cm'/ min

13223.00+
12396.56
11570.137]
10743.69 |
9917.25-
9090.817

826438

7437.94
6611.50-
5785.067
4958.63
413219
3305.75-
2479317
1652.88 ]

826.44

Kuwvvet (N.)

\o

12| |11

7 BAR

=

0.00
g

=

17.000

3.400
6.800
10.200
13.600

20.400
23.800
27.200

30,600

T T T

400

g
3

a7,

Strok (mm.)

FIG. 1

g8

g

=

]

51.000
54.400
57.800

61.200

64.600

68.000 -

|
e U S Spp——




N KORUGU
BRAKE CHAMBER

STROKE 53/53

DIYAFRAM / PISTON
DIAPHRAGM / PISTON

KANCA KANCA
YENI KOD ESKI KOD
\[2)'Releb]S88 OLD CODE

BP2024 30418

BP2024 30419  AA.10122.1

BP2024 30420 AA.10122.2

BORU HAVA GIRIS FLANS
WABCO KNORR OEM TUBE AR PORT FLANGE
CODE FiG. Thread Length
Vida Uzunluk
L1 L2 L4
BY9401 8169241 IVECO 1 M48X2 180 M16X1,5 —
08169241 IVECO
1 M48X2 174 M16X1,5 —
IVECO 1 M48X2 190 M16X1,5 -



AKE CHAMBER

FLANGE ANGLE

__\ FLANS ACISI
A3

AIR ANGLE
HAVA GIRi§ ACISI

L2

CLAMP ANGLE {

KELEPCE ACISI ol TN
[

A2 Q

rrececdeccdeeymbhoeeag
1

[ U S S

Type / Tip D/P

Operating Pressure Air
Calisma Basinci Hava

12| |11

Permissible Medium 11 12
Galisma Ortam: 10 bar | 85 bar =AM %. \N\/\:

Operating Temperature Range 40°C
Calisma Sicakhigs +80°C

Control Pressure 11 12
Kontrol Basinci 13 bar | 10 bar

Permissible Leakage

3,
Miisade Edilen Kagak 10 cm'/ min

13209.00
12383.44 1
11557.88 ]
10732.31 ] 7BAR
9906.75-
9081.197
8255.63]
7430.06
6604.50
5778.94
4953.38]
4127.81
3302.25
2476.697
1651,13]
825.56 |
0.00 —

Kuwvvet (N.)

T T T T T T

SE SRR
3

000
3.450
6.900

10.350
13.800
17.250 4
20.700

150

050

400

48.300
51.750 4
55.200
58.650
65.550
69.000 -

24,
27
n
a
41
62.100

Strok (mm.)

FIG. 1



KANCA
YENi KOD
NEW CODE

BP2424 30421

BP2424 30422

N KORUGU
BRAKE CHAMBER

STROKE 57/57

DIYAFRAM / PISTON
DIAPHRAGM / PISTON

KANCA BORU HAVAGIRIS | FLANS
: TUBE FLANGE
EskikoD | "URCO | KnORR OEM 6 | vea ) tongn | RPORT
OLD CODE Vida Uzunluk
L1 L2 L4
AA10123.1 IVECO 1] mdex2 194 M16X1,5 =
IVECO 1] msx2 275 M16X1,5 -



NLER
RODUCTS

STROKE 75/75

T30 AXLE SERVICE BRAKE CHAMBER ‘E
BS0030 10041
T

T36 AXLE SERVICE BRAKE CHAMBER

STROKE 75/75
BS0036 10042

T36 S-CAM SERVICE BRAKE CHAMBER

STROKE 75/75
BS0036 10043



